FIERTAES

ron

> 22 Z=jol3e] Flol= Yol the Tks
SIXIHTRO| AETE BES,

> B AOIX 15, 20, 25, 30, 350 H& HZ A

> BUS SIF| ZHS IS5 St ABH SEL} 5422
Saet e =Erlolo] 205 HEZOR Ciof B

S Maker - Al2|=

IKO LWH Al2[=

NSK | LS-AL.LH-AN A|2|=

THK SRS-M.HSR-A A|2| =
#Y¥37] | 15.20.25.30.35 LS

Linear Stopper

E 796 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



zoi2ey § A

Linear Stopper m

AEMHEE

> B47lelol 5722 Yt QAR A U Quc 2E 21
b QallEt BEL MCio] QEiE DEDLs,

> RIX| 2ol Haleh =3 ERE US

b Y3 Z2(0|EQ| 0|E0|L} Hot K]
EZAQ| AEHENM AIRE £ QELICEH
b AED SE0 R 7H0] HX| 2™ 7ts.

> O[] 7|5S 7K 710|E B|Y HX| 2Bk 2l &,

AED 22

> CHSH dX| Yol tHSet S5t Yl ME.

b ZUE M2 DL B R0| AR| B,

AEH SE . Q5 EE . Q3

> E2E H2|RES H5E X2let ARH SEL R2[E 2 -

=
YES 2l A,

797 B3

www.spctech.co.kr IWATA Linear Stopper




2L AET -?—lil’é%"% Linear Stopper m
IIAE - 25| TIAE 2| IAS  AETHEE
IEYO0|ES : AETEE YIE0|ES : AETEE HIEYO|EZ : =i

VA

1

.
\\

4
\\
-

v
=

P =

,/’
‘
e
=

oale : PE

L EIE

g g
SBDS SBCW SBDW
=3 |

E 798 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



aorsy S2B|EF / -?-Eﬂ

Linear Stopper m

EEEREE

A =5

IAE : AEHER

IS 0|EL : AEHEE

AFZHO|ES : =5

AEHEE
s}ﬁii s}ﬁiﬁ

AEHEE

SBN

7

IIAZ - 2H

IZY0|ELX | AET

www.spctech.co.kr

IWATA Linear Stopper




Stopper m

inear

L

o
=)
uq
<
=)
]
o)

D EH

=
=

71A

D EH

=
=

| 71A

LSG

\,

PR

Z NN

N \w
) 77 IR
Lo \ X / \V@zl

LSA

7
/ /EN
’ v/
= b
(7]
-

: 72
= /A Z) ~

S S X
/ \\\\/
/ \~\ )y

A

LS.
LSM

SBT

Linear Stopper m

@/

LSP-RN
LSPU

ﬂwm'
0

Good Solution Leads To a Great Quality...

LSPN-FH
LSPN-U

LSPN-RH
LSP-FN

IWATA Linear Stopper

g
19ddois ieaur E



SPL

ao2en oxzzge LSGN

Linear Stopper m

AE AH|Ql2|A
EHelimm
) SS400  SUS304 2-C5 M
VA ]
3 11
g4z | T
AEI « SUHIXEE =
€« TS | (SoMA35/EAM) - 27 © - | H3
YK g
" h’. Abjolzla | | FHTHEE P | M
— 5| (SUsxwm) - 274 W
/
S Maker * Al2|= =4
S W H| A |B|P|T M D | BaEE —
ALO|= IKO NSK THK SS400(S&M) | SUS304
SRS15M [25|46|38.5| 5 |13| 6 |M6XP0.75(#f)| 5.5 | M5X12 | LSGN-01 | LSGN-01S
15 | LWH15 LS15AL HSR15A |25|53|45.0| 6 |13| 6 |M6XP0.75(#)| 5.5 | M5x12 | LSGN-02 | LSGN-02S
LH15AN 25|59|51.5| 6 |13| 6 |M6XP0.75(#)| 55 | M5%X12 | LSGN-03 | LSGN-03S
20 SRS20M [32|50(425| 5 [18| 6 | M8XP1.0(#H) | 5.5 | M5x12 | LSGN-04 | LSGN-04S
LWH20  [LS20AL, LH20AN| HSR20A |32(68|60.5| 8 |18| 6 | M8BXP1.0(ff) | 6.6 | M6X12 | LSGN-05 | LSGN-05S
o5 SRS25M [32(60(52.5(10|18| 6 | MBXP1.0(H) | 6.6 | M6X12 | LSGN-06 | LSGN-06S
LWH25 | LS25AL LH25AL| HSR25A [32|71(63.5/10|18| 6 | M8xP1.0(#) | 6.6 | M6X12 | LSGN-07 | LSGN-07S
30 | LWH30 |LS30AL LH30AL| HSR30A |38|80|72.5(10|22| 6 | M8XP1.0(#l) | 9 | M8x16 | LSGN-08 | LSGN-08S
35 | LWH35 |LS35ALLH35AL| HSR35A |45|88(80.5/10(25| 6 | M8XP1.0(#) | 9 | M8x16 | LSGN-09 | LSGN-09S
X 2 HIZ2 WATA SXt F24Z0/0f, Hloj747} 258t e obelLich (W) = FH=LbA
auoaen sixzze LSDN-N Linear Stopper []]
AE AH|QI2|A
— == Elimm
SS400 SUS304 v?o W
M
B
923 e g~
- . gpRIRIZE 2.9 U W
’ il A8 | (SCM435/5EM) — 27
s (23EESUR) - K
'_
ul ABQIZIA | (SUSXM7) -2 i
' h - C23TSUL) - 2h P1£0.02 2-¢d H7 -
LhS Maker ¢ Al2|= Ha R =H
Moz Ko | NSk | TRk (V| H| A |BIE|FIP P e T M D | =2 | 9| (me) [scu0@)] SUS304
SRS15M [ 32]30(23.5|18|12[12|16|16| 6 |25 | M6xPO75()| 55 | M5X12 |4X6| ¢4x10 | LSDN-01N | LSDN-01SN
15 | LWH15 | LS15AL | HSR15A |32 |38[31.5|18|12|12|16|16| 6 | 25| MexP075(#)| 55 | M5x12 |4 X 6| ¢4x10 | LSDN-02N | LSDN-02SN
LH15AN 32|43(355(18(12|12(16|16| 6 |25 | M6XP0T5()| 55 | M5X12 |4X 6| ¢4X10 | LSDN-03N | LSDN-03SN
SRS20M | 32| 35|27.5|/18|12|12|16|16| 6 |25 | MBxP1.0(#l)| 55 | M5X12 [4X6| ¢4X10 | LSDN-04N | LSDN-04SN
20 LS20AL 32(43(355(18(12|12(16|16| 6 |25 | M8XP1.0(#)| 55 | M5x12 |4X6| ¢4X10 | LSDN-05N | LSDN-05SN
LWH20 | LH20AN | HSR20A | 32| 45[37.5[18[12|12(16|16| 6 |25 | M8xP1.0(#)| 55 | M5X12 |4X6| ¢4X10 | LSDN-06N | LSDN-06SN
SRS25M |32 [40(32.5/23|12[12|18[18] 6 | 32| M8xP10(f)| 6.6 | M6x12 [4X6| ¢4x10 | LSDN-07N | LSDN-07SN
25 LS25AL 32|50(40.5(23|12|12(18|18| 6 |32 | MBXP1.0(#)| 6.6 | M6X12 |4X6| ¢4X10 | LSDN-08N | LSDN-08SN
LWH25 | LH25AL | HSR25A | 32[50(43.5(23[12[12[18[ 18| 6 |32 | M8xP1.0(#)| 6.6 | M6X12 |4X6| ¢4X10 | LSDN-09N | LSDN-09SN
30 | LWH30 | IS0 #304 | HSR30A | 38|57 [49.5(28|16|16[20|20| 8 |38 | M8xP1.0(#@)| 9 | M8x16 |5X8| ¢5x12 | LSDN-10N | LSDN-10SN
35 | LWH35 | ISBLIKL | HSR35A | 45|63 |55.5|31 16|16 |25|25| 8 |45 | M8xP1.0()| 9 | M8x16 |5X8| ¢5x12 | LSDN-11N | LSDN-11SN

X £ HES WATA At F2Z0[0] tol747} BEsHs

22 orgLch,

(8) = 7k=LtAL

www.spctech.co.kr

IWATA Linear Stopper

so1 Y



"
diwarta

2IL|0JAED $fX[H

sz LSDN

Linear Stopper m

A AH[Qlz|A
SS400 SUS304
Haz
Al . Q7RIR|E E
(scwmss/sa A) — 274
Yo . QrRIZ|IZE
AHIO| A=
" Eh 2SS Sy - o
IS Maker « Al2|= A =H
2EE
Ato]= IKO NSK THK WiH A BIEIF ) PIT M D | 428 SS400(E3tM)| SUS304
SRS15M [32]30[235]18]12[12]16]25 [M6xP0.75()] 55 | M5x12 | LSDN-01 | LSDN-01S
15 | LWH15 LS15AL | HSR15A [32|38(31.5/18|12[12]16|25|M6xP0.75(#8)| 55 | M5x12 | LSDN-02 | LSDN-02S
LH15AN 32|43|355(18|12[12|16|25|M6XP0.75(#l) | 55 | M5x 12 | LSDN-03 | LSDN-03S
SRS20M |32(35|27.5|18[12|12]16|25|M8xP1.0(#) | 55 | M5x12 | LSDN-04 | LSDN-04S
20 LS20AL 32|43|355[18|12[12|16|25|M8xP1.0(#f) | 55 | M5x 12 | LSDN-05 | LSDN-05S
LWH20 | LH20AN | HSR20A |32|45|37.5/18]12/12]|16]|25|M8xP1.0(#) | 55 | M5x12 | LSDN-06 | LSDN-06S
SRS25M [32(40(32.5(23|12(12|18 |32 |M8xP1.0(#1) | 6.6 | M6X 12 | LSDN-07 | LSDN-07S
25 LS25AL 32|50(40.5/23|12[12|18|32|M8xP1.0() | 6.6 | M6x12 | LSDN-08 | LSDN-08S
LWH25 LH25AL | HSR25A |32|50(43.5[23[12[12|18|32|M8xP1.0(#) | 6.6 | M6Xx12 | LSDN-09 | LSDN-09S
30 | LWH30 |LS30AL LH30AL| HSR30A |38|57|49.5/28|16|16|20|38|M8XP1.0(#) | 9 | M8x16 | LSDN-10 |LSDN-10S
35 | LWH35 |LS3AL LH3%AL | HSR35A |45|63|55.5|31[16|16|25|45| M8xP1.0(#)| 9 | M8x16 | LSDN-11 |LSDN-11S
X 2 RS2 IWATA SX} FZAE0|H, Ho|717t 255k 242 ofgLdt, () = Zh=LiAL
auo2sl oxizng LSCN=N Linear Stopper m
A" Adolala -
S$S400  SUS304 M
& "
P < T
- K EJ—:E
| sz
o 2 (SCM435/SRAH) — 27H
¢ 23T(SUJ2) - 271 P1io'92 ‘ 2-¢d H7
o [ - SIRIRIZE 104 *{é’FFl
VIO || U0 amema) susam -2 ;
<23TSUR) - 2% %
S Maker « A|2|= EAES EEEER] =H
MOIZ|  IKO NSK THK WIH A B P P M D |F&=2&) d (m6)  |S3400(224)| SUS304
SRS15M |50(30(23.5(12|18|35|18 |12 |M6XP0.75(#) | 55 | M5X16 |4X6| ¢4X10 | LSCN-0IN | LSCN-01SN
15 | LWH15 | LS15AL | HSR15A |50|38|31.5/12|18|35[ 18| 12|M6XP0.75(#) | 55 | M5X16 |4X6| ¢4x10 | LSCN-02N | LSCN-025N
LH15AN 50|43|35.5[12]18|35| 18| 12|M6XP0.75(#f) | 5.5 | M5X16 [4X6| ¢p4x10 | LSCN-03N | LSCN-03SN
SRS20M |50 |35|27.5/12|20|35|18| 12 |M8XP1.0(#f) | 55 | M5X16 |4X6| ¢p4X 10 | LSCN-04N | LSCN-04SN
20 LS20AL 50|43(35.5[12(20 (35|18 |12 |M8xP1.0(#) | 55 | M5X16 [4X6| ¢4X10 | LSCN-05N | LSCN-05SN
LWH20 | LH20AN | HSR20A |50 |45[37.5(12(20 (35|18 12 |M8xP1.0(#f) | 55 | M5X16 [4X6| ¢4X10 | LSCN-06N | LSCN-06SN
SRS25M |50|40(32.5/16|20|35|18| 16 |M8XP1.0(#) | 6.6 | M6X20 |4X6| ¢4x10 | LSCN-07N | LSCN-07SN
25 LS25AL 50|48|40.5/16|20|35|18| 16| M8xP1.0(#f) | 6.6 | M6X20 [4X6| ¢4x10 | LSCN-08N | LSCN-08SN
LWH25 | LH25AL | HSR25A |50 |51 [43.5(16(20|35| 18|16 |M8XP1.0(#f) | 6.6 | M6X20 |4X6| ¢4X10 | LSCN-09N | LSCN-09SN
30 | LWH30 | IS0ALLH30AL | HSR30A 65|57 |49.5|16 |24 |45[20| 16 |M8xP1.0(#) | 9 | M8x20 |5X8| ¢5x12 | LSCN-10N | LSCN-10SN
35 | LWH35 | S3ALLHEAL | HSR35A |65(63|55.5|16 |24 |45(20| 16 |M8xP1.0(#) | 9 | M8x20 |5X8| ¢5x12 | LSCN-11N | LSCN-11SN

% 2 HME2 IWATA =Xt F24F0(0, Hlo|#7t

25sk= A2 orguch.

(H8) = 7h=LtAL

E 802 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



SPL

ao2en oxzze LSCN

Linear Stopper m

28 2HEA B¢
SS400  SUS304
E*EH q
S4E Se,rL M
41_//
AE! - SZRIXIZE
== | (SoM435/EAMAY) - o) oop | @ _
mf b ! =
Agjolaja | SHHRISE \)v \
SHEES ] (susxM7) - i )
S Maker « Al2|= N =5
MOI=| KO NSK TRk (WP A B PT M D | F528 [sonoEam) sus30d
SRS15M |50|30|23.5]12|18|35|12 |M6XP0.75(#f) | 55 | M5x16 | LSCN-01 | LSCN-01S
15 | LWH15 LS15AL | HSR15A |50|38|31.5|1218(35|12 |M6XP0.75(#)| 55 | M5X16 | LSCN-02 | LSCN-02S
LH15AN 50|43/35.5(12 /18|35 |12 |M6xP0.75(#) | 55 | M5X16 | LSCN-03 | LSCN-03S
SRS20M |50 |35|27.5(12 (20|35 |12 | M8xP1.0(#) | 55 | M5x16 | LSCN-04 | LSCN-04S
20 LS20AL 50|43355(12|20|35|12|M8xP1.0(#) | 55 | M5X16 | LSCN-05 | LSCN-05S
LWH20 | LH20AN | HSR20A |50|45|37.5]12|20|35|12|M8xP1.0(#) | 55 | M5x16 | LSCN-06 | LSCN-06S
SRS25M |50 |40 |32.5|16 |20 |35 |16 | M8xP1.0(#) | 6.6 | M6X20 | LSCN-07 | LSCN-07S
25 LS25AL 50|4840.5]16|20|35|16|M8xP1.0(#) | 6.6 | M6X20 | LSCN-08 | LSCN-08S
LWH25 LH25AL | HSR25A |50|51|435|16|20|35|16| M8xP1.0(#) | 6.6 | M6x20 | LSCN-09 | LSCN-09S
30 | LWH30 |LS30ALLH30AL| HSR30A |65|57|49.5|16|24|45|16|M8XP1.0(#)| 9 | M8x20 | LSCN-10 | LSCN-10S
35 | LWH35 |LS35ALLH35AL| HSR35A | 65|63 |55.5|16 | 24|45 16| M8XP1.0(#) | 9 | M8x20 | LSCN-11 | LSCN-11S
X 2 HE2 IWATA EXt #4E0|0, 40|77t ESst= A2 ordLUCt (0 = 7t=LIAF
aoj2sn 9xzze LSEN Linear Stopper m
A" AHolA -
- SS400  SUS304 26D M
s S —
| b -
/ IS B
E. 948 I P I
'} — ST il
ﬁFél M n_xla;E_ 2 i i
(SCM435/ZEHA) — 27 T
_ S17
(@ - SZRIx|ZE ‘L LT
@ SRS susan - o w W
LHS Maker « Al2|= ~ =H
Ato|= IKO NSK THK WiH| A SHS2IP T M D | #8528 Isqpo@am) susaod
SRS15M |50 |30|23.5|16|11 32|12 |M6XP0.75(#) | 5.5 | M5x35 | LSEN-01 | LSEN-01S
15 | LWH15 LS15AL | HSR15A |50|38|31.5/16|16|32|12|M6xP0.75(#) | 5.5 | M5x40 | LSEN-02 | LSEN-02S
LH15AN 50|43|35.5|16|16|32| 12 |M6xP0.75(#) | 5.5 | M5x45 | LSEN-03 | LSEN-03S
SRS20M |50 |35|27.5(21|12|32|12| M8xP1.0(#f) | 55 | M5x40 | LSEN-04 | LSEN-04S
20 LS20AL 50433552117 |32|12| M8xP1.0(#) | 55 | M5x45 | LSEN-05 | LSEN-05S
LWH20 | LH20AN | HSR20A |5045|37.5|21|19(32|12| M8xP1.0(#) | 55 | M5x50 | LSEN-06 | LSEN-06S
SRS25M |50 |40 |32.5|24|16 |36 |16 | M8XP1.0(#f) | 6.6 | M6x45 | LSEN-07 | LSEN-07S
25 LS25AL 50|50 |40.5|24] 23|36 |16 | M8xP1.0(#) | 6.6 | M6x55 | LSEN-08 | LSEN-08S
LWH25 LH25AL | HSR25A |50|50|43.5|24|23|36|16| M8xP1.0(#) | 6.6 | M6x55 | LSEN-09 | LSEN-09S
30 | LWH30 |LS30ALLH30AL| HSR30A |65 |57 |49.5|29|27|45|16| M8xP1.0(#) |9 | M8x60 | LSEN-10 | LSEN-10S
35 | LWH35 |LS35ALLH35AL| HSR35A |75|65|55.5|3530|55|16| M8xP1.0(#) |9 | M8x70 | LSEN-11 | LSEN-11S
X 2 HES IWATA SXH #4E0|H, Ho|AH7t E5dt= A2 ofguct, () = 7t=LIAF

www.spctech.co.kr

IWATA Linear Stopper

so3 P}



aiLoi2ey 9xzze LSMN

AE AH[Qlz|A
SS400  SUS304
P ‘
| 2 W g il
 blle HAI !
I RaE A4 pi—1 G L
- " A gl | ]
Al | SHASE L] \ !
(SCM435/Z¢4) ~ 271 | | iR
‘ St :‘r
'S . Q7IRI=E .. P T
AH[OIZIA ac
" B.ﬂ 2SS S - o W )
S Maker * Al2|= R =
W|H|A|sSt|s2|pP|T M D | B4EE =
Molx| KO NSK THK SSA00(EEA)|  SUS304
18 SHW12
50 | 30 |21.5/25|10| 35 | 12 |M6XPO.75(#) | 5.5 | M5x35 | LSMN-01 | LSMN-01S
24 SHW14

33 | LWFF33, LWFS33 | LW17EL SHW17 | 65 | 32 |24.5/34 12| 50 | 12 |M6XP0.75(#) | 5.5 | M5Xx35 | LSMN-02 | LSMN-02S
37 | LWFF37, LWFS37 | LW21EL SHW21 65 | 38 |128.5/38|15| 50 |12 |M6XP0.75(#fll) | 55| M5X40 | LSMN-03 |LSMN-03S
42 | LWFF42LWFS&2 | LW27EL SHW27 | 75 | 45 |34.5/43 |17 | 60 | 16| M8XP1.0(#l) | 6.6 | M6X50 | LSMN-04 | LSMN-04S
69 LWFF69 LW35EL SHW35 |125|49.5/42.5/70|22|100| 16| M8xP1.0(/l) | 9.0 | M8x55 | LSMN-05 | LSMN-05S

X 2 HE2 IWATA =Xt #2450/, Ho|A{7} 25sk= 22 ofduc. (#8) = 7h=LtAL

aioi2sn oxzze LSFN

Linear Stopper m

AE ABRl2IA E42lmm
SS400  SUS304 F -
= x| P E
!
o Er
> f
HAIT |
T | i
_ T | ‘ | ‘ (i
Al | - SUHx|EE < i 1
S2 | (SOMA3E/EAA) — 27f o \}\ | i
] !
¥ ) « S7HIRIEE S1 L‘J u JE]L
_ D

S Maker * Al2]|= =4
WIH|A | E|F|st|s2|P|T M D | H&4EE —
AO|= IKO NSK THK SS400(E3M) | SUS304

5 SRS15M |44 |30(23.5/ 7 | 37 | 15 |11|16| 12| M6XP0.75(#) | 5.5 | M5x35 |LSFN-01|LSFN-01S
LWH15 | LS15ALLH15AN | HSR15A |44 |38(31.5| 7 | 37 | 15 |16|16|12 | M6XP0.75(#) | 5.5 | M5X40 |LSFN-02 LSFN-02S
0 SRS20M |44 (35275 7 | 37 |17.5/12|12| 12| M8xP1.0(#l) | 55| M5%x40 |LSFN-03|LSFN-03S
LWH20 |LS20ALLH20AN | HSR20A |44 |50(37.5| 7 | 37 |17.5/19|12|12| M8xP1.0(#) | 55| M5X55 |LSFN-04 LSFN-04S
o5 SRS25M |44|38|31.5/ 7 | 37 | 15|16 |16| 12| M6XP0.75(#) | 55 | M5%X40 |LSFN-02|LSFN-02S
LWH25 | LS25ALLH25AL | HSR25A |44 |50(43.5) 7 | 37 | 19 |23 |12 |16 | M8xP1.0(#) | 6.6 | M6X55 |LSFN-05 LSFN-05S

)
30 LWH30 | LS30ALLH30AL | HSR30A | 65|65 |49.5(10|54.5| 25 |27 |20 |16 | M8XP1.0(#) | 9.0 | M8x70 |LSFN-06|LSFN-06S
35 LWH35 | LS35ALLH35AL | HSR35A | 65|65 |55.5(10(54.5| 28 |30 |20 | 16 | MBXP1.0(#) | 9.0 | M8x70 |LSFN-07|LSFN-07S
X 2 HE2 IWATA SAF #A4F0|, Ho|#7F 2E5k= 22 ofgLct, (H8) = 7h=LtAL

E 804 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quality...



5PC

g|L|AED]

Linear Stopper m

N A" Adl2A el
= ~ oTl-mm
i : SS400 SUS304 2
P e S
/ ]
AR waE D
T
" Qa AEI - FZUHIXIZE < o
—— == | (somass/EEM) - 29f BB
’ i . - g2RIR|RE e
' ﬁ‘ SHZES s - o W _\2eD T
4
thS Maker « Al2|= = =
ES IKO NSK THK W ABIP)T M D | F4EE SSA00(EEHM)| SUS304
SRS15M | 25|27(19.5] 5 [13| 6 |M6XP0.75(#) | 5.5 | M5x12 | LSX-01 | LSX-01S
15 LWH15 LS15AL HSR15A |25|35/27.5| 5 [13] 6 |M6XP0.75(#) |5.5| M5x12 | LSX-02 | LSX-02S
LH15AN 25|40(325| 5 |13| 6 | M6XP0.75(#) | 55| M5x12 | LSX-03 | LSX-03S
20 SRS20M | 32[32(23.0] 5 [18] 6 |[M8xP1.0(#) 55| M5x12 | LSX-04 | LSX-04S
LWH20  |LS20AL.LH20AN| HSR20A |32]45[37.0| 7 |18] 6 |M8xP1.0(#) |6.6 | M6Xx12 | LSX-05 | LSX-05S
o5 SRS25M | 32[40(32.0] 7 [18] 6 |[M8xP1.0(#) |66 | M6Xx12 | LSX-06 | LSX-06S
LWH25 |LS25AL.LH25AL| HSR25A |32]50(42.0| 7 |18] 6 |M8xP1.0(#) |6.6 | M6Xx12 | LSX-07 | LSX-07S
30 LWH30 |LS30AL.LH30AL| HSR30A |38|60[52.0| 9 [22] 6 [M8xP1.0(#) |9 | M8x16 | LSX-08 | LSX-08S
35 LWH35 | LS35AL.LH35AL| HSR35A |45|65|57.0] 9 |25| 6 |[M8xP1.0(4H) |9 | M8x16 | LSX-09 | LSX-09S
* 2 MBS WATA St F2Z0(n, tol77t 255t % ofgurt () = 7H=LiAF

www.spctech.co.kr

IWATA Linear Stopper

gos Y



aoiasn oxzzge LSY-N

SEf O
AE AH|0l2|A
SS400 SUS304
P
L] Fre v n
' - HESZRR|IZE -P, 24D
e (S45C/E2HM)  — 274 A4 2-¢dH7
’ i*ﬁ An -237(SU2) - M Y
AR - NS RFIEE e
_ AHQIBIA | (SI5CHHYISEER) ~ %) P140.02
« B3 % YO <23T(SUJ2) - 2% = J
JEf @
A AH[Ql2|A
SS400 SUS304
naz
T - SZRF|ZE %)
28 (SCM435/52AH) — 271
«23T(SU2) -2
9= || B A « SZHXZE %F)
' F'g 00| asea| cusan -2
«c23T(SU2) -2
2 Maker « Al2|= PN EPS-E ] =il
MOIZ|  IKO Nk | thk |V |P| A |BIE|F|PPPTIe|T M D | F5a& | d (m6)  |SS400E2M)| SUS304
SRS15M |32[15| 8.5|13| — | —|16]16| 4 |19|M6XP0.75(#) | 5.5 | M5X20 |4X6| ¢4x10 | LSY-0IN | LSY-01SN %
15 |LWH15 |LS15AL| HSR15A |32]22| 15.5[18]12| 8 |16]16]| 6 [25|M6XP0.75() | 5.5 | M5X12 |4X6| ¢4X10 | LSY-02N | LSY-02SN
LH15AN
o | W20 it ish0n 32|26/ 19.5|18[12|12[16|16| 6 |25|M6XP0.75(#) | 5.5 | M5X 12 |4X6| ¢4x10 | LSY-03N | LSY-03SN
SRS20M [32/19/10.0|18| — | —[16]16| 6 [25/M8XP1.0(#) | 5.5 | M5X20 |4X6| ¢4x10 | LSY-04N | LSY-04SN
SRS25M |32|23|15.0[18| — | — [18]18] 6 |25|M8XP1.0(#)) | 6.6 | M6X25 |4X6| ¢4x 10 | LSY-05N | LSY-05SN
25 LS25AL 32(31]23.0|23]12[12[18|18] 6 |32|M8XP1.0(#)) | 6.6 | M6X12 |4X6| $4X10 | LSY-06N | LSY-06SN
LWH25 | LH25AL | HSR25A |32|34|26.0|23|12[12]18[18] 6 |32|M8XP1.0(#) | 6.6 | M6X 12 [4X6| ¢4X10 | LSY-07N | LSY-07SN
30 | LWH30 | S0ALIH3AL | HSR30A [38|40] 32.0|28[16/16(20]20] 8 |38|M8xP1.0(#) |9 | M8X16 |5X8| ¢5x 12 | LSY-08N | LSY-08SN
35 | LWH35 | LS | HSR35A [45/46 38.0(31]16]16]25/25| 8 |45/ M8xP1.0(#) |9 | M8x16 |5X8| ¢$5x12 | LSY-09N | LSY-09SN

X 2 HME2 IWATA =Xt F#4E0|H,
1) LSY-02N2 X
Z2) LSY-02 SN2 X

) LCt,
2case

=

HOIH7} BE5H= 22 ofdLict,
SRR E (SASC/ZAM

===

= S7RIR|ZE (S45C/ #3712

SEE) gt

(#8) = 7h=LtAL

E 806 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



5PC

Linear Stopper m

aLojaey xzng LSZ-N
S| D

Ag AgolalA v
$5400  SUS304 " =
Bs 7) <
e HAI ! J_L
- HESZRIz|ZE W
A8 | (sasc/ERM) - ) P120.02 2ed 7
’ ?_4 C2ITSUR) - 2N |
' i i - HESZHAIZE i & H
) AH[QIJA | (SU5C/HMISEED) - 274 2-¢D b
- B3 %= O C2IWSUR) - N %
IEf @
< EH2imm
SS400  SUS304 Q|
po M
- . . b T
B y H4E ] <
- - S2RiIRIZE
AE | (SCMA35/EEAY) - 27) W T\
« 23T(SUJ2) - 2f P1£0.02 2-¢d H7
D « Q7RRZE PN A —
" ﬁ’ 001 2ees| cusam -2 29 DA |
: <23WSUR) - 2H /
HS Maker « Al2|= AL EES-E ] =
M= KO NSK thk (VP A B PIPIIT M | DIFSEE] d ey s | sUs30a
SRS15M |50|15| 85| — | — |35|18 | 12| M6XP0.75(#fl)| 5.5| M5X16 |4X6| $4x10 | LSZ-0IN |LSZ-01SN ¢

15| LWH15 LS15AL | HSR15A |50|22|15.5|12|18|35|18| 12| M6XP0.75(#)| 5.5 | M5X16 | 4X6| ¢4x10 | LSZ-02N |LSZ-02SN

LH15AN
LWH20 | LS20ALLH20M | HSR20A 50|26(19.5/12[18|35| 18|12 | M6XP0.75(#)| 5.5 | M5X16 |4X6| $4x10 | LSZ-03N |LSZ-03SN

20 SRS20M |50(18[10.0| — | — [35|18 |12 | M8xP1.0(#)|5.5|M5X20 [4X6| ¢4x10 | LSZ-04N |LSZ-04SN ¢
SRS25M |50 (23 [15.0/12(20|35|18 |16 | M8XP1.0(f) 6.6 | M6X16 |4X6| p4X10 | LSZ-05N |LSZ-05SN
25 LS25AL 50|31/23.0/12|20|35|18 |16 | M8xP1.0(#)|6.6 | M6X16 |4X6| $4X10| LSZ-06N | LSZ-06SN
LWH25 | LH25AL | HSR25A |50|34|26.0|12|20|35|18 |16 | M8XP1.0(#)|6.6 | M6X16 |4X6| ¢4X10 | LSZ-07N |LSZ-07SN
30 | LWH30 |LS30ALLH30AL| HSR30A |65|4032.0|16|24|45|20|16 | M8xP1.0(#)| 9 |M8x20|5X8| $5x12| LSZ-08N |LSZ-08SN
35| LWH35 |LS35ALLH35AL | HSR35A |65 |46|38.0|16|24|45|20|16 | M8xP1.0(#l)| 9 |M8x20|5X8| $5x12| LSZ-09N |LSZ-09SN
X 2 HE2 IWATA SXt #AZ0|H, o077t E5dt= A2 OfELIct (@) = 7h=LAL
www.spctech.co.kr IWATA Linear Stopper| 807 E




Linear Stopper m

aoaen oxizze LSW=N
SE O
A ARoIRA oo
o mm
SS400  SUS304 P1£0.02 2.¢d H7
|
4 ‘ o] @
— ..-’.; & } &
N - P 2-M1
€t B ) gaz
A" | .z3mEUR) - 2 PNIE
T e
1 _ ISANYTA
CEZ we SO ! AHQRIZIA | - 23TSUS) - 2K Y W
e ®
P1+£0.02 2-¢pd H7 CHef:mm
SS400  SUS304 )
=X |
_ f Tlo o
P |
Haz
AEl | .2IESUR) - N
J
|
Dj AHQIEIA | « 23T(SUJ2) - 27K
i Maker * AlE2|= RN el
M= Ko | NSk | thk |V H A B|E|FIPIPTIel T M M1 d ["m6) | ssaooi@a)| suS304
SRS15M |32 |150| 85| 13 | — | — | 16|16 4 | 19 | M6XPO.75(#) | M5X10 |4X6| p4x10| LSW-0IN | LSW-01SN v
15 | LWH15 [LS15AL|HSR15A[32[22.0(155| 18 [12] 8 [16]16| 6 |25 |M6xP075(#) | M5 |4X6|¢4x10] LSW-02N |LSW-02SN
LH15AN
o | CWH20 . 1w FSRZ0A 32126.0(195| 18 |12[12|16|16| 6 | 25| M6XPO75(8) | M5 |4X6|¢4x10| LSW-03N [LSW-03SN
SRS20M |32 [175[100| 18 | — | — [16[16] 6 |25 [MBXP1.0(#) | M5X10 |4X6| $4x10| LSW-04N | LSW-04SN +¢
SRS25M |32 [225(150| 18 | — | — | 18[18| 6 |25 |MBXP1.0(#) | M6X12 | 4X6| ¢4x10| LSW-05N | LSW-05SN ¢
25 LS25AL 32(310(230[ 23 [12[12|18|18] 6 | 32|M8xP1.0(#)| M6 |4X6|p4x10| LSW-06N |LSW-06SN
LWH25 |LH25AL|HSR25A| 32 [34.0(26.0| 23 [12]12]18]18| 6 |32 |M8xP1.0(#)| M6 |4X6|¢4x10] LSW-07N [LSW-07SN
30 | LWH30 |LS304L L0 HSR30A | 38 [40.0[32.0| 28 |16 16[20(20| 8 |38 |M8xP1.0(#8)| M8 |5X8|¢5x12| LSW-08N |LSW-08SN
35 | LWH35 |LS5A. L5 HSR35A| 45 [46.0[38.0] 31 |16]16|25|25| 8 |45 |M8xP1.0(#)| M8 |5X8|¢5x12| LSW-09N |LSW-09SN

X 2 HE2 WATA =X} FAF0[0, Hjo|#7} E5sk=

A2 orgduc,

(#8) = 7h=LtAL

E 808 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



5PC

2ILIHAET

azizzg LSV -N

Linear Stopper m

AS Ag[2la|A
Eelimm
$S400  SUS304 —P o
Py
|
P1+0.02 2-p4H7 X6
W
R&E m
4z g
AEl «23T(SU2) -2
M |
f]ﬁ] I %%
< AH[QIZIA | « 23TSUJ2) - 27K
/
H2 Maker * Al2|= CESER] =4
Wi H| A |[P|P1|T M M1 —
JVES IKO NSK THK m6) | Ss400(ZM) | SUS304
SRS15M |40|15| 8.5 |30| 15|12 |M6XP0.75(#H)| M5X10 | ¢4x10| LSV-01N |LSV-01SN
15 LWH15 LS15AL HSR15A [40(22|15.0/30|15|12|M6XP0.75(#H)| M5X10 | $4Xx10| LSV-02N |LSV-02SN
LH15AN
40|26|19.0/30| 15|12 |[M6xP0.75 ()| M5X10 | ¢4X10| LSV-03N |LSV-03SN
0 LWH20 |LS20AL.LH20AN| HSR20A
SRS20M |40|18|10.0|/30|15|12| M8xP1.0(#H) | M5X10 | $4x10| LSV-04N |LSV-04SN
SRS25M |40 |23|15.0|/30|15|16| M8XP1.0(#Hl) | M6X12 | $4x10| LSV-05N |LSV-05SN
25 LS25AL 40|31|23.0/30|15|16 | M8XP1.0(#H) | M6X12 | ¢4x10| LSV-06N |LSV-06SN
LWH25 LH25AL HSR25A |40(34(26.0/30|15|16| M8XP1.0(#fl) | M6X12 | ¢4x10| LSV-07N |LSV-07SN
30 LWH30 |LS30AL.LH30AL| HSR30A |50|40(32.0|35|15|16|M8XP1.0(#H) | M8X16 | ¢4x10| LSV-08N |LSV-08SN
35 LWH35 |LS35AL.LH35AL| HSR35A |50|46(38.0|35|15|16| M8XP1.0(#H) | M8X16 | ¢4X10| LSV-09N |LSV-09SN
X 2 HME2 IWATA SXt #HE0|0H, Ho|77t 2S5t A2 ofduct, () = 7h=LtAL

www.spctech.co.kr

IWATA Linear Stopper

soo P}



"
diwarta

g|L| A E D

SEER

LSGU

Linear Stopper m

- Al AH[Ql2|A
~ - Hlimm
r N _ 7\)\ SS400  SUS304
A - < L
& 5
4
Haz
F rios’ - S2RIx|2E < T ®
AE S XHH) — 07
S ES oI - 1 & 62 | A=
= A= Al L
’ =, '-“T—n_xla— P T
' E AH[QIE|A | (SUSXM?) - 27 W 2-¢D
DSEHSBUE.2025) - 171 )
HS Maker * Al2|= [EPN =4
Afo|= IKO NSK THK WiH|ABIP|TMID]lge D)L SS400(S&M) | SUS304
SRS15M 25|46 (385 5 | 13| 6 |M4|55|M5x12| 15| 11 LSGU-01 LSGU-01S
15 LWH15 LS15AL HSR15A 25|53 [455| 6 |13 | 6 |M4|55|M5x12| 15| 11 LSGU-02 LSGU-02S
LH15AN 25|59 (515 6 | 13| 6 |M4 |55 |M5x12| 15| 11 LSGU-03 LSGU-03S
20 SRS20M 32|50 (425 5 |18 | 6 |M4 |55 |M5x12| 15| 11 LSGU-04 LSGU-04S
LWH20 LS20AL.LH20AN | HSR20A 3268|580 8 | 18| 6 |M5|6.6 |M6X12| 20 | 13 | LSGU-05 LSGU-05S
o5 SRS25M 32|60 (5251018 | 6 |M4|6.6 | M6x12| 15| 11 LSGU-06 LSGU-06S
LWH25 LS25AL,LH25AL| HSR25A 32711610/ 10| 18| 6 |M5|6.6 |M6X12| 20 | 13 | LSGU-07 LSGU-07S
30 LWH30 LS30AL.LH30AL| HSR30A 38|80 (6751022 | 6 |M5| 9 |M8x16|25 | 13| LSGU-08 LSGU-08S
35 LWH35 LS35AL.LH35AL| HSR35A 45|88 |755/ 10| 25| 6 |M5| 9 |M8X16| 25| 13 | LSGU-09 LSGU-09S
X 2 HZS IWATA Xt F2Z0(0, #0|27} 25sHs 22 ofglLic
aoasn ez LSDU Linear Stopper m
A" AHCQlZA —
$S400  SUS304
S E D
" _E]
228 & o
- ZRIR|ZE <z
28 (SCMA35/SEtM) — 27k 10 T
DRAEHSBUI5.20.25) — 171 il
- S2RIR|ZE J Wa4p B
AH[QI2]A | (SUSXM7) - 24 P T
DLBEHSBUI5.20.25) — 174 )
[HS Maker « Al2|= EPS =H
M= KO NSK ik (WM A|BIEIFIPITIMID ] 22 DL feonnssm sus3oa
SRS15M |32 (3022518 (12|12 |16 |25 | M4 |55 |M5x12| 15| 11 | LSDU-01 |LSDU-01S
15 LWH15 LS15AL HSR15A (32|38 (30.5(18 (12|12 |16 |25 |M4 |55 |M5x12| 15 | 11 | LSDU-02 |LSDU-02S
LH15AN 324535018 12|12 |16 |25 | M5 |55 |M5%12| 20 | 13 | LSDU-03 |LSDU-03S
20 SRS20M |32 |30|225|18 |12 |12 |16 |25|M4 |55 |M5%x12| 15| 11 | LSDU-01 | LSDU-01S
LWH20 |LS20AL,LS20AN| HSR20A |32 |45|35.0|/18|12|12|16|25|M5| 55 |M5x12| 20 | 13 | LSDU-03 |LSDU-03S
o5 SRS25M |32 |38|30.5|/18 |12 |12 |16 |25 |M4 |55 |M5%x12| 15| 11 | LSDU-02 | LSDU-02S
LWH25 | LS25AL.LH25AL | HSR25A |32 |50 (40.0/23|12 12|18 |32 |M5| 6.6 |[M6x12| 20 | 13 | LSDU-04 | LSDU-04S
30 LWH30 |LS30AL.LH30AL| HSR30A |38 |57 |44.5|28 |16 |16 |20|38 |M5| 9 |M8x16| 25 | 13 | LSDU-05 | LSDU-05S
35 LWH35 |LS35AL.LH35AL| HSR35A | 45|63 |50.5/31|16|16|25|45|M5| 9 |M8x16| 25 | 13 | LSDU-06 | LSDU-06S
X% 2 HEZS IWATA Xt 72Z0(0, B0|37} 255k 242 ofglLict,

E 810 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



SPL

2uoj2ey <asxz LSCU Linear Stopper m
ke e
P
L]
N L
— 242 O@ J M @
f by Ty . 271 R2E e — -
R | el S| = 7{‘3/ = 5
el —= (SCM435/:_| —|) 27H I 1 ©
DS2IEHSBU520.25) - 171 2:¢D | <7 ]
P - S2EIRIRE o L
" E AHIQIRJA | (SUSXM?7) - 27 W o
2EHSBUI5.20.25) — 17} /
IHS Maker * Al2|= ZPS =4
MOI=| KO NSK THK winaB I d P TIMID ] ge |DTTL Fsono@Eam)] sussos
.5 SRS15M | 50 | 30 |22.5] 12 | 18 | 35 | 12 | M4 | 55 |M5x16] 15 | 11 | LSCU-01 | LSCU-01S
LWH15 LS15AL | HSR15A
% Shsooy | 50 | 38|30.5) 12| 18 | 35 | 12 | M4 | 5.5 M5x16| 15 | 11 | LSCU-02 | LSCU-028
15 LH15AN 50 | 43 |355| 12 |18 | 35| 12 | M4 | 55 |M5x16| 15 | 11 LSCU-03 | LSCU-03S
20 | LWH20 |[LS0ALLH20AN| HSR20A | 50 | 45 [35.0| 12 [ 20 | 35 | 12 | M5 | 5.5 [M5x16] 20 | 13 | LSCU-04 | LSCU-04S
o5 SRS25M | 50 | 40 |30.0| 16 | 20 | 35 | 16 | M5 | 6.6 [M6x20| 20 | 13 | LSCU-05 | LSCU-05S
LWH25 | LSI5AL H25AL | HSR25A | 50 | 51 [41.0 16 | 20 | 35 | 16 | M5 | 6.6 |M6x20| 20 | 13 | LSCU-06 | LSCU-06S
30 | LWH30 |LSHALLH30AL| HSR3O0A | 65 | 57 |44.5| 16 | 24 | 45 | 16 |M5| 9 |M8x20| 25 | 13 | LSCU-07 | LSCU-07S
35 | LWH35 |[S3ALLH35AL| HSR35A | 65 | 63 |50.5] 16 | 24 | 45 | 16 |[M5| 9 |M8x20| 25 | 13 | LSCU-08 | LSCU-08S
X 2 ME2 IWATA SXH #4Z0(H, Ho|7{7t E&5sh= A2 ofduct
uo2sn eyezy LSEU Linear Stopper m
A8 ES= RS
Helimm
- SS400  SUS304
&% 5 |
(s i) L
: d
S22 L a°
A" | (SCMA3E/EAM) — 7 - | il
DL2EHSBUI5.20.25) = 17 o N i
- . S7lRIR|ZE Sty
7 I AHQIBIA | (SUSMT) - 27 W
DRYEHSBUE2025) - 174 /
IS Maker « Al2|= CES =H
W H|A|st|s2|P|T|[M|[D|ZZ|D1|L _
AO|=| KO NSK THK £E SS400(EAM) | SUS304
SRS15M | 50 | 30 [22.5] 16 | 11 | 32 | 12 | M4 | 55 |[M5x35] 15 | 11 | LSEU-01 | LSEU-01S
15 | LWH15 | LS15AL | HSR15A | 50 | 38 |30.5| 16 | 16 | 32 | 12 | M4 | 55 [Msx40] 15 | 11 | LSEU-02 | LSEU-02S
LH15AN 50 | 43 [355| 16 | 16 | 32 | 12 | M4 | 55 |M5x45] 15 | 11 | LSEU-03 | LSEU-03S
2 SRS20M | 50 | 35 [25.0| 21 | 12 | 32 [ 12 | M5 | 55 |M5x40| 20 | 13 | LSEU-04 | LSEU-04S
LWH20 [LS0AL LH20M] HSR20A | 50 | 45 [35.0] 21 | 19| 32 | 12 | M5 | 55 |M5x50| 20 | 13 | LSEU-05 | LSEU-05S
25 SRS25M | 50 | 40 [30.0| 24 | 16 | 36 | 16 | M5 | 6.6 |M6x45| 20 | 13 | LSEU-06 | LSEU-06S
LWH25 [Ls25AL LH25A| HSR25A | 50 | 50 |40.0| 24 | 23 | 36 | 16 | M5 | 6.6 |M6x55| 20 | 13 | LSEU-07 | LSEU-07S
30 | LWH30 |LS30ALLH30AL| HSR30A | 65 | 57 |44.5| 29 | 27 | 45 | 16 | M5 | 90 |M8x60] 25 | 13 | LSEU-08 | LSEU-08S
35 | LWH35 |IS3®ALLH3A| HSR35A | 75 | 65 |52.5] 35 | 30 | 55 | 16 | M5 | 9.0 |M8x70] 25 | 13 | LSEU-09 | LSEU-09S

% 2 HE2 IWATA SXt #4Z0|0H, Ho|77t ESsts A2 otgUCh

www.spctech.co.kr

IWATA Linear Stopper

a1 Y



aoaen oz LSMU

ES=| AH[Ql2|A
SS400  SUS304
Haz _ M |
- S2RAz|ZE i iZB
A8 | (sOMdSy/EIM) -2 | Tia AN | 1l
DLEHSBUI5.2025) — 17K T i
- S7RIR|EE o sty | o
wn 0
AB[OIZ|A | (SUSXM?) - i W
DPEHSBUI52025) — 171 ’ - J
HS Maker « AlE|= HA =4
W|H|A|SI|[S2/P|T|M|D| Lz |DI|L —
NS IKO NSK THK == SS400(E2M) | SUS304
18 SHW12
50 | 30 225/ 25 | 10 | 35 | 12 | M4 |55 |M5x35| 15 | 11 | LSMU-01 | LSMU-01S
24 SHW14

33 |LWFF33 LWFS33| LW17EL | SHW17 |65 | 32 |24.5| 34 |12 |50 | 12 | M4 | 5.5 |M5X35| 15 | 11 | LSMU-02 | LSMU-02S

37 | LWFF37, LWFS37| LW21EL | SHW21 | 65| 38 |28.0/ 38 | 15|50 | 12 | M5 | 5.5 |[M5X40| 20 | 13 | LSMU-03 | LSMU-03S

42 | LWFF42LWFS42 | LW27EL | SHW27 | 75| 45 |35.0| 43 | 17 | 60 | 16 | M5 | 6.6 [M6X50| 20 | 13 | LSMU-04 | LSMU-04S

69 LWFF69 | LW35EL | SHW35 |125|49.5|37.5| 70 | 22 |[100| 16 | M5 | 9.0 |M8X55| 25 | 13 | LSMU-05 | LSMU-05S
x 2 HE2 WATA =X FAF0[0, 00|77} E5sk= 22 OfgLICt

ao2aen <exa LSFU

A8 AH[Ql2|A
- — SS400  SUS304
. F 1
e s B ]
E =aE % iy ==
- S2fER|2E T, !
== ] 28 (SCM435/E2HM) — 27H ] il
- DREHSBUIS20.25) — 174 L
7 - g2pRizIZE o s Dt o
Bh AHOIRIA | (SUSXMT) - o7 w T
D22EHSBUI52025) — 170 J
HS Maker « Al2[= HA =
Wi H| A |E|F |S1|S2|P|T|M|D| &2 |[D1|L —
MOIZ| KO | NSK | THK =E SS400(&%M) |  SUS304

SRS15M |44 |30 |225| 7 |36.5| 15 |11 |16 |12 |M4|55|M5x35| 15|11 | LSFU-01 | LSFU-01S
LWH15 |LS15AL LHI5AN| HSR15A
25 SRS25M
SRS20M | 44 | 35|25.0| 7 |34.0|17.5/ 12|12 |12 |M5|55 |[M5x40| 20 | 13 | LSFU-03 | LSFU-03S
LWH20 |LS20ALLH20AN| HSR20A | 44 | 50 (40.0| 7 |34.0|17.5[19 | 12|12 |M5| 5.5 |M5x55| 20| 13 | LSFU-04 | LSFU-04S
25 |LWH25 |LS2ALLH25AL HSR25A | 44 | 50 |40.0| 7 |34.0| 19 |23 |12 |16 |M5|6.6 |M6X55| 20 | 13| LSFU-05 | LSFU-05S
30 |LWHS3O0 |LS30ALLH30AL| HSR30A | 65 | 65 |52.5|10|52.5| 25 |27 |20 | 16 |M5| 9.0 |M8X70| 25 | 13| LSFU-06 | LSFU-06S
35 | LWH35 |LS35ALLH35AL HSR35A | 65 | 65 |52.5|10(52.5| 28 |30 |20 | 16 [M5|9.0 (M8X70| 25 | 13 | LSFU-07 | LSFU-07S
X 2 MS2 WATA =Xt #A450[0, 00|77} 255k= 22 ofgLICt

15

44|38 |30.5| 7 |36.5| 15 |16 |16 | 12 |M4|55|M5X40( 15| 11 | LSFU-02 | LSFU-02S

20

E 812 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quality...



5PC

aLoaey <aexa LSXU

Linear Stopper m

A" AfolR|A
SS400  SUS304
0
saz T ®
- S7RRizI2E - T
e (SCM435/ZEtM) — 27K j e
@2EHSBUS) - 171 @ Br P
- SzExIZE e I \!
AHQIBIA | (SUSXM7) | W 2-¢D |T
DSENSBUIS) - 170 W,
S Maker * Al2|= =Py =
S KO NSK THK W H A LB P T I D 22 [ssa00@EM)| SUS304
SRS15M 25 27 | 195 5 13 6 5.5 | M5%x12 LSXU-01 LSXU-01S
15 LWH15 LS15AL HSR15A 25 35 | 275 5 13 6 55 | M5x12 LSXU-02 LSXU-02S
LH15AN 25 40 | 325 5 13 6 55 | M5x12 LSXU-03 LSXU-03S
20 SRS20M 32 32 | 245 5 18 6 5.5 | M5%x12 LSXU-04 LSXU-04S
LWH20 LS20AL. LH20AN HSR20A 32 45 | 37.5 7 18 6 6.6 | M6X12 LSXU-05 LSXU-05S
o5 SRS25M 32 | 40 | 325 7 18 6 6.6 | M6x12 | LSXU-06 LSXU-06S
LWH25 LS25AL, LH25AL HSR25A 32 50 | 42.5 7 18 6 6.6 | M6X12 LSXU-07 LSXU-07S
30 LWH30 LS30AL, LH30AL HSR30A 38 60 | 52.5 9 22 6 9 M8X16 LSXU-08 LSXU-08S
35 LWH35 LS35AL, LH35AL HSR35A 45 65 | 57.5 9 25 6 9 M8X16 LSXU-09 LSXU-09S

¥ 2 RHZS WATA St FZZ0/H, Hol747t BEsts e ofguick

www.spctech.co.kr

IWATA Linear Stopper

813 P}



aoi2en sxems LSYU
SO
AZ AH<QIEIA S~
$S400  SUS304
o S
u,P' = i
wi‘!-i a8 A1,
B - HESZRUIZE ¥ @
- A" | (SCas/EEM) - o) < o
@LEHSBUIS) - 174 | Il v %~ ;,fl
g - HESAAREE 1 <7 =
B ) ’r Ff AEQIEA | (SUSXM) - ) Uy, i
- BE = HEIOYUC DLHEHSBUIS)  — 174 J
e @
A" AH<QIEA By .
He:mm
$S400  SUS304 25 >
=3 W M4 E_11
G s L0
i Tkl
1 ™ e
Baz 4T
- S2ARIEE X% ki q‘%
A | (SCMA35/EEA) - 274 29D W -
23ESBUI) -~ 14 ‘
5 - SZURIZE xF) _ ‘\O*}
i Ff alolA| Sus) - 2 | o
- 22 @A) SEHSBUIS) - 17} | %
LHS Maker « Al2|= CES =t
Ato|= IKO NSK THK WiHl A BIETFIPITI D] 2 [s00@am] sus3oa
SRS15M 32|15 75|13 | — | — | 16 |19 | 55 |M5%x16| LSYU-01 | LSYU-01S 5k
15 LWH15 LS15AL HSR15A 32|22|145|18 |12 | 8 | 16 | 25 | 5,5 |[M5Xx12| LSYU-02 | LSYU-02S
LH15AN
2 LWH20 LS20AL.LH20AN | HSR20A 32|26|185|18 |12 |12 | 16 | 25 | 55 |[M5Xx12| LSYU-03 | LSYU-03S
SRS20M 32(19|115(18| — | — | 16 | 25 | 5,5 |[M5X20| LSYU-04 | LSYU-04S ¢
SRS25M 3223|155 |18| — | — | 18 | 25 | 6.6 |M6X25| LSYU-05 | LSYU-05S ¢
25 LS25AL 32 |31|2835|23|12|12 |18 |32 | 6.6 IM6Xx12| LSYU-06 | LSYU-06S
LWH25 LH25AL HSR25A 3234|265 |23 |12 |12 |18 | 32 | 6.6 |[M6x12| LSYU-07 | LSYU-07S
30 | LWH30 |LS30ALLH30AL| HSR30A |38 |40 | 325 |28 16 | 16|20 | 38| 9 |M8x16] LSYU-08 | LSYU-08S
35 LWH35 LS35AL,LH35AL | HSR35A 45|46 |385|31 |16 |16 |25 |45 | 9 |M8x16| LSYU-09 | LSYU-09S

X 2 HES WATA EXF FZAZ0|0, Hl0|7{7F 255k A2 ofuct,
) LSY-02= MFSZUHRISE (S45C/SEM) Lick,
F2) LSY-02S= MESZUHRIZE (S45C/HM37IIECFSE) LT

E 814 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quality...



5PC

2oiasn 2y LSZU Linear Stopper m
e ©
AEl AHQlR|A o
o mm
$S400  SUS304 Fid 2.4D i
o © 1 & +
!.‘.:.f"."’ B | e P
L .rie_‘ TS - 11
k « SZUHXIZE Q M4 ®
AE | (SCMA35/EEM) — 27i ’ — -
2| EH -17 : LiJ k] 10
DSESBUS)  — 171 %% R EE 7%45{
N - SZRURIZE 4 ‘
) i Fi‘ AHREA | SUSMD - ot oo L ]
c B = FEOYJUC DEENSBUIB) - 171 J
e @
ﬁEE'I AE“?_Ialé h
2-¢)D '.:_f-rlimm
SS400  SUS304
= /i) il fan)
[ -
P
HAI
- 2UR|2E ®
A% | (SCM435/EEMAM) — 274 — 5
DRENSBUIS) - 174 ¢ _ == 5]
- S7iIxIZE o] | = ==
AB[QIZJA | (SUSXM?) - 27M w U
DBEHSBUIS)  — 174 -
[HS Maker « Al2|= =P =t
N ES IKO NSK THK Wi HIAIB]J P T D|ge SS400(E3M) | SUS304
SRS15M 50 | 15| 75| — — | 35| 12 | 55 |M5%16| LSZU-01 | LSZU-01S ¢
15 LWH15 LS15AL HSR15A 50 | 22 |145| 12 | 18 | 35 | 12 | 5.5 |M5%X16| LSZU-02 | LSZU-02S
LH15AN
2 LWH20 LS20AL. LH20AN HSR20A 50 | 26 |185] 12 | 18 | 35 | 12 | 5.5 |M5%X16| LSZU-03 | LSZU-03S
SRS20M 50 | 18 |10.5| — — | 385 | 12 | 5.5 |[M5X20| LSZU-04 | LSZU-04S ¢
SRS25M | 50 | 23 [155] 12 | 20 | 35 | 16 | 6.6 |M6x16| LSZU-05 | LSZU-05S
25 LS25AL 50 | 31 |[235| 12 | 20 | 35 | 16 | 6.6 |M6X16| LSZU-06 | LSZU-06S
LWH25 LH25AL HSR25A 50 | 34 |26.5| 12 | 20 | 35 | 16 | 6.6 |M6%X16| LSZU-07 | LSZU-07S
30 LWH30 LS30AL., LH30AL HSR30A 65 | 40 |325| 16 | 24 | 45 | 16 9 |M8x20| LSZU-08 | LSZU-08S
35 LWH35 | LS35AL.LH35AL| HSR35A | 65 | 46 |38.5| 16 | 24 | 45 | 16 | 9 |M8x20| LSZU-09 | LSZU-09S

X 2 S22 IWATA =X} #A4F0[0, H0|77} 255k= 22 orgLCh

www.spctech.co.kr

IWATA Linear Stopper

815 P}



gL AED

e O
A" AHQIRIA crolmm
SS400  SUS304 i
i o
o | ¢
P 2-M
S2E M4 Yo
[ A
A"l | . RBEHSUBIS) - 17K e 1<l AW 2
N 7% =t
- ‘\f > s
{ T
«HS f= S OQULICH AHQIZ|A | « RENSUBIS) - 17K v w )
@
ES= L] ES
S$S400  SUS304
w2z
M4 i N
A" | -oweqsuss) - | L | 0 9 o
¥ “BHS
(@) T
. ot @A) AgQlalA | - REHSUBIE)  ~ 174 q,; w E]1 Y.
HE Maker * Al2|= =4
Ato|= IKO NSK THK Wi R AIBIE]F P T M SS400(Z2M)|  SUS304
SRS15M | 32 [150]/75[ 13| — | — [ 16 | 19 [M5X10] LSWU-01 | LSWU-01S ¢
15 | LWH15 LS15AL HSR15A | 32 [22.0|145| 18 | 12 | 8 | 16 | 25 | M5 | LSWU-02 | LSWU-02S
LH15AN
o | LWHZ0 | [S20AL.L20RN|  HSR20A 32 |260|185| 18 | 12 | 12 | 16 | 25 | M5 | LSWU-03 | LSWU-03S
SRS20M | 32 [17.5/100| 18 | — | — | 16 | 25 |[M5X10| LSWU-04 | LSWU-04S ¢
SRS25M | 32 [225[150] 18 | — | — | 18 | 25 [M6X12| LSWU-05 | LSWU-05S ¥
25 LS25AL 32 [31.0|235[ 23 [ 12 | 12| 18 [ 32 | M6 | LSWU-06 | LSWU-06S
LWH25 LH25AL HSR25A | 32 [34.0(265| 23 | 12 | 12 | 18 | 32 | M6 | LSWU-07 | LSWU-07S

30 LWH30 LS30AL,LH30AL| HSR30A 38 [40.0/325| 28 | 16 | 16 | 20 | 38 M8 LSWU-08 | LSWU-08S
35 LWH35 LS35AL.LH35AL| HSR35A 45 146.0/385| 31 | 16 | 16 | 25 | 45 M8 LSWU-09 | LSWU-09S

x 2 HE2 WATA =Xt FAF0[0, Hj0|#7} E5sk= 22 OfgLICt

E 816 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quality...



5PC

auocsy <¥szmz LSVU
AE| AHIOIZ|A
e 2222 EH:mm
SS400  SUS304 b
= |
i
>—-F-—d]
HAIX | Il
== I I
- 1N
AR | . 2YEKSUBIS) - 14 ‘ ‘
M4 2
W/2 X&)
AHQIZ|A | « REHSUBIS) - 17K Q
[HE Maker * Al2|= i
WIH|A|P|T]| M1 —
Ato|= IKO NSK THK SS400(S2HM) SUS304
SRS15M 40|15|75/30 | 12| 5X10 | LSVU-01 LSVU-01S
15 LWH15 LS15AL HSR15A 40| 22 145/ 30 | 12| 5X10 | LSVU-02 LSVU-02S
LH15AN
40 | 26 [185/30 | 12| 5X10 | LSVU-03 LSVU-03S
2 LWH20 LS20AL. LH20AN HSR20A
SRS20M 40| 18 105/ 30 | 12| 5X10 | LSVU-04 LSVU-04S
SRS25M 40| 23155/ 30 | 16| 6X12 | LSVU-05 LSVU-05S
25 LS25AL 40| 31 23530 | 16| 6X12 | LSVU-06 LSVU-06S
LWH25 LH25AL HSR25A 40 | 34 |26.5/ 30 | 16 6X12 LSVU-07 LSVU-07S
30 LWH30 LS30AL. LH30AL HSR30A 50 | 40 [32.5/ 35 | 16| 8X16 | LSVU-08 LSVU-08S
35 LWH35 LS35AL. LH35AL HSR35A 50 | 46 [38.5 35 | 16| 8X16 | LSVU-09 LSVU-09S

X 2 MS2 IWATA =Xt #A4F50[0, 00|77} 255k= 22 orgUth

www.spctech.co.kr

IWATA Linear Stopper

817 P}



"
diwarta

ao2ey <yzze LSGN-U

Linear Stopper m

A" AH[Ql2|A
Helimm
S$S400  SUS304 .
e | M 2
s/ L <7
HAD Y = 7 @%@
T8
- S2pRizIEE < ! T @
2 (SCM435/2 =) — 274 @
oEHR _ ) 1=
DFAEEEHUHS) - 174 © @ Ep=
- g2pizIEE p T
AHQIE|A | (SUSXM?) - 27 W 2-¢D
DY EHEESBUHES) — 174 J
S Maker * Al2|= [EPS =4
JES IKO NSK THK WiH A B PIT M D | e SS400(E2M) | SUS304
SRS15M |25]46|385] 5 [ 13| 6 | M6XxP0.75(#)| 5.5 |[M5x12| LSGN-01-U |[LSGN-01S-U
15 | LWH15 LS15AL HSR15A [25|53|450| 6 |13| 6 |M6xP0.75(#)| 5.5 |M5%12| LSGN-02-U |LSGN-02S-U
LH15AN 25|59 |515| 6 | 13| 6 | M6XP0.75(#)| 5.5 |M5%12| LSGN-03-U |LSGN-03S-U
20 SRS20M |32]50[425| 5 [18] 6 |M8xP1.0(#)| 5.5 [M5%x12| LSGN-04-U |LSGN-04S-U
LWH20  |LS20AL.LH20AN| HSR20A [32|68|605| 8 |18| 6 |M8xP1.0(#)| 6.6 |M6x12| LSGN-05-U |LSGN-05S-U
o5 SRS25M |32]60|525|10[18] 6 |M8xP1.0(#)| 6.6 |M6x12| LSGN-06-U |LSGN-06S-U
LWH25 |LS25AL.LH25AL| HSR25A [32|71/635[10|18| 6 |[M8xP1.0(#)| 6.6 |M6x12| LSGN-07-U |LSGN-07S-U
30 | LWH30 |LS30AL.LH30AL| HSR30A |38|80|725|10|22| 6 |[M8xP1.0(#)| 9 |M8x16| LSGN-08-U |LSGN-08S-U
35 | LWH35 |LS35AL.LH35AL] HSR35A |45|88|80.5|10|25| 6 |M8xP1.0(#)| 9 |M8x16| LSGN-09-U |LSGN-09S-U
% 2 ME2 IWATA SXH #4E0[0H, Ho|AH7t B#3dt= A2 OFELICY, (0 = 7+H=LIA
ajojaen 2zs2e LSDN-U Linear Stopper m
A" AH[Qlz|A crelimm
SS400  SUS304 Y 5=
S M E o
=1
2Lz J T -
- 7ERIZE iy t
22 (SCM435/S2M) — 27 |5
DsuEEEGaHes — 1 |22 P
- S7|2E H
AHQIE]A | (SUSXM?) - ok @
DLYELE(SBUHES) — 174 )
IHS Maker « Al2|= CES =H
ALO|= IKO NSK THK WIH A BIEIF ) PIT M D E | SS400(E%M) | SUS304
SRS15M |32]30[235[18[12[12]16]25 |M6xP0.75(#)] 5.5 |M5x12 | LSDN-01-U |LSDN-01S-U
15 | LWH15 LS15AL | HSR15A [32|38(31.5/18|12|12|16 |25 |M6xP0.75(#)| 5.5 | M5x12 | LSDN-02-U |LSDN-02S-U
LH15AN 32|43(355(18 12|12 |16 |25 | M6XP0.75(#)|5.5 | M5x12 | LSDN-03-U |LSDN-03S-U
SRS20M [32|35|27.5/18[12[12[16|25 | M8xP1.0(#)|5.5 |M5x12| LSDN-04-U |LSDN-04S-U
20 LS20AL 32143|355[18[12[12 16|25 | M8xP1.0(#)|5.5 |M5x12| LSDN-05-U |LSDN-05S-U
LWH20 LH20AN | HSR20A [32|45|37.5/18|12|12|16|25|M8xP1.0(#)|5.5 |M5x12| LSDN-06-U |LSDN-06S-U
SRS25M |32 |40 |32.5/23[12[12 18|32 | M8xP1.0(#)|6.6 |M6x12| LSDN-07-U |LSDN-07S-U
25 LS25AL 32|50|405]23[12]12]18|32 | M8xP1.0(#)|6.6 |M6x12| LSDN-08-U |LSDN-08S-U
LWH25 LH25AL | HSR25A [32|50|43.5/23[12[12[18|32 | M8xP1.0(#)|6.6 |M6x12| LSDN-09-U |LSDN-09S-U
30 | LWH30 |[LS30AL.LH30AL| HSR30A |38|57|49.5|28[16|16]20|38 | M8xP1.0(#)| 9 [M8x16| LSDN-10-U |LSDN-10S-U
35 | LWH35 |LS35AL.LH35AL| HSR35A |45|63|55.5|31|16|16|25|45| M8xP1.0(#)| 9 |M8x16| LSDN-11-U |LSDN-11S-U
% 2 ME2 IWATA SX #4E0|H, H0|H7 BSdt= L A2 ofdLct (fB) = 7t=LIAF

E 818 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



SPL

Linear Stopper m

aoji2en oy LSCN-U
28 222l Elimm
- $S400  SUS304 .
e ol H
P
-l il o2 M -
IFI L500-pesy -— .gqaﬂ;qs__ 04_/f ﬁ S
Vigens ’ AH (SCMA35/E M) — 27} ¢ “EEFQ
DHE=ZE(SBUHES - 17} | 29D ! Jd [F Yo
S - SZEIXBE m[ },} } 3,?,‘ Ti
" 1111 ABQIRIA| (SUSMT) - oif w U gin
DEEE(SBUHES) — 174 J
S Maker « Al2|= 22 =
Ao|= IKO NSK THK WiH A B P T M D =e SS400(E2HM) | SUS304
SRS15M |50 | 30 |23.5| 12| 18| 35 | 12 |M6XP0.75(#) | 5.5 | M5X16| LSCN-01-U | LSCN-01S-U
15 | LWH15 | LS15AL | HSR15A |50 |38 |31.5| 12|18 35| 12 |M6XP0.75(#) | 5.5 |M5x16| LSCN-02-U | LSCN-02S-U
LH15AN 50 | 43 355| 12| 18| 35 | 12 |M6XP0.75(#) | 5.5 | M5X16| LSCN-03-U | LSCN-03S-U
SRS20M |50 |35 27512 |20 | 35|12 [M8xP1.0(#) | 5.5 |M5x16| LSCN-04-U | LSCN-04S-U
20 LS20AL 50 | 43 35.5] 12|20 35| 12 |M8XP1.0(#) | 5.5 | M5%16| LSCN-05-U | LSCN-055-U
LWH20 | LH20AN | HSR20A |50 |45 |37.5| 12|20 35| 12 |M8XP1.0(#)| 5.5 |M5x16| LSCN-06-U | LSCN-06S-U
SRS25M |50 | 40 |32.5| 16 | 20 | 35 | 16 |M8xP1.0 (i) | 6.6 |M6x20| LSCN-07-U | LSCN-07S-U
25 LS25AL 50 | 48 |40.5| 16 | 20 | 35 | 16 |M8xP1.0 (#) | 6.6 |M6x20| LSCN-08-U | LSCN-085-U
LWH25 | LH25AL | HSR25A |50 |51 |43.5]| 16|20 35| 16 |M8XP1.0 (i) | 6.6 |M6x20| LSCN-09-U | LSCN-09S-U
30 | LWH30 |LS30ALLH30AL| HSR30A |65 |57 |49.5| 16 |24 | 45|16 |[M8xP1.0(#)| 9 |M8x20| LSCN-10-U | LSCN-10S-U
35 | LWH35 |LS35ALLH35AL] HSR35A | 65|63 |55.5| 16 | 24 | 45| 16 |M8XP1.0(#)| 9 |M8x20| LSCN-11-U |LSCN-11S-U
% 2 HE2 IWATA SAH #4E0|H, Ho|AH7t 25dt= A2 ofguct, (@) = 7H=LIAt
a2y <= LSEN-U Linear Stopper m
AE AHQl2|A
El:mm
SS400  SUS304 L
Sa 29D M | L2
|
N ] % L%J £ <
Pres } | ‘l“ i S i Y
« SZHIR2E o i ‘ < ] @
A" | (SOMA35/EEM) — 27 S| | ‘ i
D2AEZE(SBUHES) - 174 ‘ s1+°‘ u
S . Q7lIR|ZE ‘ -
" ]]11 ABOIZIA | (SUSXMY) — o) —
DLEZE(SBUHGS) — 171 %
LS Maker « Al2|= Ha =
Ao|= IKO NSK THK WiH A ST Sz P T M Dl 2e SS400(EHM) | SUS304
SRS15M | 50 | 30 |23.5] 16 | 11 | 32 | 12 |M6XP0.75(#) | 5.5 | M5x35| LSEN-01-U | LSEN-01S-U
15 | LWH15 | LS15AL | HSR15A |50 |38 |31.5| 16| 16| 32 | 12 |M6XPO.75(#) | 5.5 | M5x40| LSEN-02-U | LSEN-025-U
LH15AN 50 | 43 |355| 16 | 16 | 32 | 12 |M6XPO.75(#) | 5.5 | M5x45| LSEN-03-U | LSEN-03S-U
SRS20M | 50 | 35 |27.5| 21 | 12 [ 32 | 12 | M8xP1.0(#) | 5.5 | M5x40| LSEN-04-U | LSEN-04S-U
20 LS20AL 50 | 43 |355| 21 | 17 | 32 | 12 | M8xP1.0(#) | 5.5 | M5x45| LSEN-05-U | LSEN-055-U
LWH20 | LH20AN | HSR20A |50 | 45 |37.5| 21 | 19|32 | 12 | M8XP1.0(#) | 5.5 |M5x50| LSEN-06-U | LSEN-065-U
SRS25M | 50 | 40 |32.5| 24 | 16 | 36 | 16 | M8XP1.0(#) | 6.6 | M6x45| LSEN-07-U | LSEN-07S-U
25 LS25AL 50 | 50 |40.5| 24 | 23 | 36 | 16 | M8xP1.0(#) | 6.6 |M6X55| LSEN-08-U | LSEN-08S-U
LWH25 | LH25AL | HSR25A |50 | 50 |43.5| 24 | 23| 36 | 16 | M8xP1.0(#) | 6.6 |M6X55| LSEN-09-U | LSEN-09S-U
30 | LWH30 |LS30ALLH30AL| HSR30A |65 | 57 [49.5|29 | 27 | 45 | 16 | M8xP1.0(#) | 9.0 |M8x60| LSEN-10-U | LSEN-10S-U
35 | LWH35 |LS35ALLH35AL| HSR35A | 75 | 65 |55.5| 35 | 30 | 55 | 16 | M8xP1.0(#) | 9.0 |M8x70| LSEN-11-U | LSEN-11S-U
X 2 HES WATA X 72205, Blof{7t BEst= %2 ofdlLict (1) = 7H=LHAL

www.spctech.co.kr

IWATA Linear Stopper

819 Y



"
diwarta

Linear Stopper m

aoaey <ysze LSMN-U

1
A" AH€QIZA -
SS400  SUS304 )
- LTI 24D M ‘ L2
. i ‘ CL]]
: } HAI 1%4 \@ i rH E %i
. _es 5= . M ‘ ‘ W—) z@
- - SZR|ZE <N[ il \ I H
A" | (Somdzs/sE -2 | | P 1 7
(DSAEEESEUHGS) — 17 sio i
Ve « RUYRIEE P T
' Bk AHOIA | (SUSM) - 23l W
DY EZE(SBUHBS) — 171 %
S Maker « Al2|= wl H A lstlsolp |t " o a2 EH
JUES IKO NSK THK EE 5o400E2M) | SUS304
18 SHW12
50 | 30 |21.5|25| 10|35 | 12 |M6xP0.75(#) | 5.5 | M5x35 | LSMN-01-U |LSMN-01S-U
24 SHW14

33 |LWFF33, LWFS33| LW17EL SHW17 | 65| 32 |24.5|34 | 12|50 | 12 |M6XP0.75 (i) | 5.5 |M5x35| LSMN-02-U | LSMN-02S-U
37 |LWFF37, LWFS37| LW21EL SHW21 65| 38 |28.5|38 | 15|50 | 12 |M6XP0.75(##) | 5.5|M5X40 | LSMN-03-U |LSMN-03-SU
42 | LWFF42,LWFS42 | LW27EL SHW27 | 75| 45 |34.5|43 |17 |60 |16 | M8xP1.0(#) | 6.6 |M6x50| LSMN-04-U | LSMN-04S-U
69 LWFF69 LW35EL SHW35 [125/49.5|42.5|70 | 22 [100| 16 | M8xP1.0(##) | 9.0 |M8x55| LSMN-05-U | LSMN-05S-U
X 2 ME2 WATA SXt #450[0, Hlo|#7} 255k= 22 ofgLICt, () = Zh=LtAL

rlo

ao2ey <xeze LSFN-U

Linear Stopper m

AE AH|22|A S
SS400  SUS304 F o
= P E
| B M ! 2-¢D f
b T a1y
w8 . i i e
« SZRIXIZE < i ‘ i
A" | (SCMASS/SEAY) - 27 o BN it
B DL E=E(SBUHG.8) — 171 L] JU]L
P - S7RiR|ZE st T
Bh AHOIA | (SUSXM7) - 27l W —
DO2E=E(SBUHS) — 17} )

HH

S Maker * Al2|= il
NI ES IKO NSK THK SS400(354)| SUS304
SRS15M |44 |30(23.5| 7 |37.0| 15 [11|16 |12 |M6XP0.75(#) | 5.5|M5x35 | LSFN-01-U |LSFN-01S-U
LWH15 |LS15AL.LH15AN| HSR15A
25 SRS25M
SRS20M |44 |35(27.5| 7 |37.0{17.5/12|12|12| M8XP1.0(#) |5.5|M5%40 | LSFN-03-U |LSFN-03S-U
LWH20 |LS20AL,LH20AN| HSR20A |44 |50|37.5| 7 |37.0|/17.5/19|12|12| M8XP1.0(f) | 5.5 |M5%55 | LSFN-04-U (LSFN-04S-U
25 LWH25 LS25AL,LH25AL | HSR25A |44 |50|43.5| 7 |37.0/ 19 [23[12|16| M8XP1.0(#) |6.6 |M6X55| LSFN-05-U |LSFN-05S-U
(#)
(#)

|m Jk

W|H| A |E| F [S1|S2|P|T M D

kT
=

15
44|38(31.5| 7 |37.0| 15 |16 |16| 12 |M6XP0.75(#) | 5.5 | M5X40 | LSFN-02-U |LSFN-02S-U

20

30 LWH30 | LS30AL.LH30AL| HSR30A |65 |65|49.5/10|54.5| 25 |27 |20 |16 | M8XP1.0(#) [9.0|M8X70 | LSFN-06-U |LSFN-06S-U
35 LWH35 | LS35ALLH35AL| HSR35A |65|65|55.5/10|54.5| 28 | 30|20 | 16| M8xP1.0(#) |9.0|M8x70 | LSFN-07-U |LSFN-07S-U
X 2 HES WATA St F2Z0/0, Hol747} 23k 2 ofduict, () = 7H=LHM

E 820 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quality...



5PC

Linear Stopper m

gILIAED S EEE LSX U

AEl AH|QI2|A cHolimm
- SS400  SUS304 L
f ?_ &3; M 2
AN D55 HAD Q/ _\“A: ’JX Y
/o Ey = T —— e
‘ ¢ AEI ° oﬂaﬂilg_ _ < ﬂ \@
== (SCM435/S5A) — 271 Bl
DLEHEE(SBUHES) — 174 ,@ A
’ - g23zIEE P | *
' ii‘ AHQIZIA | (SUSXMP) - 2 W~ gD _|T|
DREHEE(SBUHG.) — 17H %
2 Maker * Al2|= [EEN ol
Ao| = IKO NSK THK WiH] A BIPIT M D | 2E [ssi0E=)] sUs304
SRS15M [ 25|27 |195| 5 |13 | 6 |M6XP0.75(f) | 5.5|M5%12| LSX-01-U |LSX-01S-U
15 LWH15 LS15AL HSR15A 25|35 |275| 5 |13 | 6 |M6XP0.75(ifl) | 5.5|M5%12 | LSX-02-U |LSX-02S-U
LH15AN 25|40 (|325| 5 |13 | 6 | M6XP0.75(ff) | 5.5|M5x12| LSX-03-U |LSX-03S-U
20 SRS20M 32|32|230| 5 |18 | 6 |M8XP1.0({#f) | 5.5|M5x12| LSX-04-U | LSX-04S-U
LWH20 LS20AL.LH20AN| HSR20A 32|45|370| 7 |18 | 6 |M8XP1.0({) | 6.6 |M6x12| LSX-05-U |LSX-05S-U
o5 SRS25M 32|40 |32.0| 7 |18 | 6 |M8XP1.0(iH) | 6.6 |M6X12| LSX-06-U | LSX-06S-U
LWH25 LS25AL, LH25AL HSR25A 3250|420 7 |18 | 6 | M8xXP1.0(fl) | 6.6 |M6x12| LSX-07-U |LSX-07S-U
30 LWH30 LS30AL,LH30AL | HSR30A 3860|520 9 |22 | 6 | MBXP1.0(f) | 9 |M8x16| LSX-08-U |LSX-08S-U
35 LWH35 LS35AL, LH35AL HSR35A 4565|570 9 |25 | 6 | MBXP1.0() | 9 |M8x16| LSX-09-U | LSX-09S-U
X 2 ME2 IWATA SXH #4Z0(H, Ho|7{7t E&5sh= A2 ofduct () = ZH=LIAL
www.spctech.co.kr IWATA Linear Stopper

821 P}



"
diwarta

Linear Stopper m

a2l <usze LSY-N-U

212 (O
AE AHQlZA -
$S400  SUS304 chol:mm
N
2E55 hen
c HESZUURXIZE L :
AEl (S45C/S A — 274 \év

B < 23TESU2) - 20
OSUSZE(SBUHE) — 171

ST

Y . 3_1[!; — 27
P B Hre BHOULM DSAEEEGBUHS) - 174 P12002 )
e @
$5400  SUS304 S w I
S £
REE - i
e
- SZRIFIZE %% o
As | (SOMA35/EXA — o
TS | -238(SUR) -2
DSALEESBUHES) - 174
= - SZRIRZE x5) i
Pyl Ty fon) oo o, - |
bl c=4u - P1+0.02 2-¢6d H7
DSAEEEEH6S - 1H ¢ J

S Maker * Al2|= Ha 84331 =t
M= Ko | Nsk | Thk |W|H| A |BIEIF | PIPTIe T . DI 22 | 9 o) SS400EZH) | SUS304
15 | LWHT5 [LS15AL [ HSR15A 32|22 155/ 18| 12| 8 16|16 6 | 25 MEXPO.T5 ) |55  M5X12[4X6] 64X 10| LSY-0IN-U [LSY-0ISN-U
o [ EWH20 [ sreon 32|26(19.518|12]12|16|16| 6 |25|M6XPO.75(4) |5.5| M5X12 |4X6| 4X 10| LSY-02N-U | LSY-025N-U
SRS20M [32[19[10.0[18] — | — | 16|16 | 6 | 25| M8xP1.0(#) | 5.5 M5x20 |4X6| $4x 10| LSY-03N-U | LSY-03SN-U ¢
SRS25M [32]23[15.0[18] — | — [18]18] 6 | 25| M8xP1.0(i) | 6.6 M6X25 |4X6| 94X 10| LSY-04N-U | LSY-04SN-U +r
25 LS25AL 32/31]23.0/23] 12| 12]18]18] 6 |32 M8XP1.0(#) |6.6| M6X12 |4X6| p4x10| LSY-05N-U |LSY-05SN-U
LWH25 |LH25AL | HSR25A | 3234 (26.0[23[12[12]18 18| 6 | 32| M8XP1.0(#) |6.6| M6X12 |4X6| ¢ 4x 10| LSY-06N-U |LSY-06SN-U
30 | LWH30 |ISALLH0AL| HSR30A | 38|40 [32.0/ 28|16 (162020 | 8 |38 | M8xP1.0(#) | 9 | M8x16|5X8| $5x12| LSY-07N-U | LSY-07SN-U
35 | LWH35 |[SEALLHSAL| HSR35A |45 46|38.0/31]16|16|25|25| 8 | 45| M8xP1.0(#) | 9 | M8x16|5X8| 5% 12| LSY-08N-U | LSY-08SN-U

% 2 HE2 WATA =Xt F#A4F0[0, 00|77} 255k= 242 ofgLCt, (8) = 7h=LtAL
1) LSY-02N2 MFS XS E(S45C/SAAM) iLC,
Z2) LSY-02 SN2 MESZHRXIZE (S45C/HA37IFE-ZEE) LT,

E 822 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quality...



5PC

Linear Stopper m

gIL|AET
JEH®

A" AlQIElA
SS400 SUS304

EHlimm

B&E

« SZH-IXIZE

AE! (SCm435/S =) — 27i
—= | -23ESu) -2
OLYEHZE(SBUHE) — 171

- gZRiIxI=E

 IMp]Tg 0] e msen, -
< B3 o= SEAOULIC DORYEEE(SBUHS) — 171

@

AE AgQlE|A —
SS400  SUS304
ez
[ F S - S2R|=E L
bz A | (SCMASH/EEM) - 23f E
— == dlevrﬂ(s%uz) )—27H &
QEFZE(SBUHB) — 174 '
- S2RIEE \ol
- AFolz|A (SUSXM?) -2
" Ii 0y MRS 2omiu - o
DHEEE(SBUHES) — 171 %
S Maker * Al2|= Ha LEREN] =
R NSK ok (W P A B PIPYT MDY 2e | d e [ssio0@a)| sus3od
15 | LWH15 | LS15AL | HSR15A |50(22]155[12] 18]35 18] 12 M6xPO75(8) | 5.5 M5x 16| 4X6| 44Xi0| LSZOIN-U | LSZOTSN-U
LH15AN
o | LWH2O (L5200 FSAZ0A 50|26(19.5/12 |18 35|18 | 12 |M6XPO.75() |5.5 | M5X 16 | 4X6| 94X10| LSZ-02N-U | LSZ-02SN-U
SRS20M | 50| 18[10.0| — | — | 35| 18| 12 |M8XP1.0(#) | 5.5| M5x20|4X6] 94X10| LSZ-03N-U | LSZ-03SN-U v
SRS25M |50 |23[15.0/12|20[ 35| 18|16 |M8xP1.0(#) |6.6| M6X16 |4X6| p4X10| LSZ-04N-U |LSZ-045N-U
25 LS25AL 50|31 [23.0/12[20|35 18|16 |M8xP1.0(#) | 6.6 M6x16 |4X6| p4X10] LSZ-05N-U | LSZ-05SN-U
LWH25 | LH25AL | HSR25A |50|34[26.0/ 1220|3518 16 |M8xP1.0(#)|6.6] M6X16 4X6 p4X10| LSZ-06N-U |LSZ-06SN-U
30 | LWH30 |LS30AL.LH30AL| HSR30A | 65|40 |32.0| 16|24 45|20 16 |M8xP1.0(#) | 9 |M8X20|5X8]¢5xi2| LSZ-07N-U | LSZ-07SN-U
35 | LWH35 |LS35ALLH35AL| HSR35A |65 46 |38.0] 16|24 45|20 16 [M8xP1.0(#) | 9 |M8x20|5X8] ¢5x12| LSZ-08N-U |LSZ-085N-U
X 2 HES WATA SXt FHE0|H, Ho|7{7t B3k %2 obguit, (4) = 7H=LIA}
www.spctech.co.kr IWATA Linear Stopper| 823 E




2ILIGAEN 2

@

gerze LSW-N -

Linear Stopper m

A" AH[Ql2|A
Himm
SS400  SUS304 P140.02 2—od H7
54
"
] 1
e
1 il * 23T(SU2) - 27 \D
CEZS K= SEOALICH . QYEEE(SBUHE) - 1M W,
SE @
A AH[Qlz|A m
1002 o— CHef:mm
SS400  SUS304 2—¢d H7
‘& «
J - S
BAE -
_ D
ﬂ F.] « 23TI(SUJ2) - 24
: @ REHZE(SBUHB) - 171 )
HS Maker * Al2|= EPS-E] =4
1 SE30 =
MIE[ KO NSK Ak (W H|A|BIE|F|PPTe)T M MU d | me) [ ssao@e™) | sus3oa
15 |_LWH15 | LS15AL | HSR15A [32(220[155]18]12] 8 [ 1616 6 [25]M6xPO75(8) | M5 [4X6 | 04x 10 LSW-01N-U|LSW-01SN-U
LH15AN
o | WHEO (520 e FISREOR 32126.0/195/18(12(12(16|16| 6 |25 |MEXPO.75() | M5 | 4X6 | ¢4x10| LSW-02N-U | LSW-02SN-U
SRS20M |32[17.5[100[18] — | — [16]16] 6 |25 M8xP1.0(#) [M5x10] 4X6 | 94X 10| LSW-03N-U [LSW-03SN-U v
SRS25M |32]225[150[ 18] — | — [18]18] 6 |25 M8xP1.0() [M6x12| 4X6 | 94X 10| LSW-04N-U [LSW-04SN-U v
25 LS25AL 32(31.0(230/23[12[12]18] 18] 6 | 32| M8XP1.0() | M6 | 4X6 | 94X 10| LSW-05N-U | LSW-05SN-U
LWH25 | LH25AL | HSR25A |3234.0(26.0|23]12[12|18]18] 6 |32| M8xP1.0(8) | M6 | 4X6 | 94x10| LSW-06N-U | LSW-06SN-U
30 | LWH30 |LS30ALLH30AL| HSR30A |38 (40.0/32.0|28|16]16(20|20| 8 | 38| M8xP1.0(#) | M8 | 5X8 | 95x 12| LSW-07N-U | LSW-07SN-U
35 | LWH35 |LS35ALLH35AL| HSR35A |45 [46.0/38.0|31|16]16(25|25| 8 |45 | M8xP1.0(#) | M8 | 5X8 | p5x 12| LSW-08N-U | LSW-08SN-U

% 2 HE2 WATA =X} FAF0[0, Hj0|#7} E5sk=

A2 orguc,

(#8) = 7k=LtAL

E 824 ‘IWATA Linear Stoppe

r

Good Solution Leads To a Great Quality...



5PC

g|L|AED]

Linear Stopper m

AE"?_IEIﬁ cCtol-
._-rl-mm
SS400  SUS304 P oM
: o i
IV | )/|7 '_I
e P1+0.02 2- ¢ AH7X6
TS L
w L2
23mSUY) - M a /@
DLAEZE(SBUHES) — 17K <] . @
<23W(SU) - 2M Y )
AHIOIZ|A
00| 2eeee DSHEEESBHES) — 174 D
S Maker « Al2|= 231 =H
A|lPI|P1|T M M =
Afo]= IKO NSK THK m6) | SS400(E&M) | SUS304
. LWH15 LS15AL | HSR15A 15|30| 15|12 |M6XP0.75(#) | M5X10 | $4x10| LSV-01N-U |LSV-01SN-U
LH15AN
19|30|15 |12 |M6xP0.75 (#) | M5X10 | $4x10| LSV-02N-U |LSV-02SN-U
2 LWH20  |LS20AL.LH20AN| HSR20A
SRS20M 10|30[15|12| M8xP1.0(#) | M5X10 | $4x10| LSV-03N-U |LSV-03SN-U
SRS25M 15|30|15|16| M8xP1.0(#1) | M6X12 | $4x10| LSV-04N-U |LSV-04SN-U
25 LS25AL 23/30[15|16| M8xP1.0(#) | M6X12 | $4x10| LSV-05N-U |LSV-05SN-U
LWH25 LH25AL | HSR25A 26|30(15|16| M8XP1.0(#1) | M6X12 | $4x10| LSV-06N-U |LSV-06SN-U
30 LWH30 |LS30AL.LH30AL| HSR30A 32|35|15|16| M8XP1.0(#) | M8X16 | $4X10| LSV-07N-U |LSV-07SN-U
35 LWH35 |LS35AL.LH35AL| HSR35A 38(35(15|16| M8xP1.0(#) | M8X16 | p4x10| LSV-08N-U |LSV-08SN-U
x 2 HIES IWATA SAH FZE0I0, Hlo7{7} 2#&35t obgiLich (HE) = 7h=LbAL

www.spctech.co.kr

IWATA Linear Stopper

825 P}



"
diwarta

aLo2ael ozxig LSA

Linear Stopper m

AE| AHOIZ|A
| A" AHQlRIA 5 S~
p SS400  SUS304 %
]
$D
CE
\ ]
( Ay | -SZEREE \f
- (SCMA35/ERHM) — 17§ S [ —
T | IHP
- . o;}aﬂilig T
AHOIZ|A HEaEAE
T I 2EHREIR | quomn) -1 )
IHS Maker « Al2|= HA =
Ato|= IKO NSK THK W H B T D =E | SS400E3M) | SUS304
SRS15M 25 30 5 6 55 |M5%x12| LSA-01 LSA-01S
15 LWH15 LS15AL HSR15A 25 38 6 6 55 |M5%x12| LSA-02 LSA-02S
LH15AN 25 43 6 6 5.5 |M5%x12| LSA-03 LSA-03S
SRS20M 32 5 5 6 55 |M5%x12| LSA-04 LSA-04S
20 LS20AL 32 43 7 6 6.6 |M6x12| LSA-05 LSA-05S
LWH20 LH20AN HSR20A 32 45 8 6 6.6 |M6%x12| LSA-06 LSA-06S
o5 SRS25M 32 40 8 6 6.6 |M6%x12| LSA-07 LSA-07S
LWH25 LS25AL. LH25AL HSR25A 32 50 8 6 6.6 |M6%x12| LSA-08 LSA-08S
30 LWH30 LS30AL.,LH30AL HSR30A 38 57 10 6 9 M8x16| LSA-09 LSA-09S
35 LWH35 LS35AL, LH35AL HSR35A 45 63 12 6 9 M8%16| LSA-10 LSA-10S
* 2 HES IWATA SXt F2Z0ln, 0lo|747} BEsH= % opglLic,
aLoi2en ozuxig LSG Linear Stopper m
. Ag AH[ol2]A S
SS400  SUS304 2-C5 B
‘ -
\
| e .
LS
( SEM) - 27 @ ! @ 1
> O f
P i \ \
) « RZHRZE w 2-¢D T
AHOIZIA
" llh e BTy D
S Maker * Al2|= BHa =4
Ao|Z= IKO NSK THK w H B P T D =E | SS400E%M) | SUS304
SRS15M 25 46 5 13 6 55 |M5x12| LSG-01 LSG-01S
15 LWH15 LS15AL HSR15A 25 58] 6 13 6 5.5 |[M5x%12 LSG-02 LSG-02S
LH15AN 25 59 6 13 6 55 |M5x12 LSG-03 LSG-03S
0 SRS20M 32 | 50 5 | 18 | 6 | 55 |M5x12| LSG-04 | LSG-04S
LWH20 LS20AL, LH20AN HSR20A 32 68 8 18 6 6.6 |M6x12| LSG-05 LSG-05S
o5 SRS25M 32 | 60 | 10 | 18 | 6 | 66 |M6x12| LSG-06 | LSG-06S
LWH25 LS25AL, LH25AL HSR25A 32 71 10 18 6 6.6 |M6x12| LSG-07 LSG-07S
30 LWH30 | LS30AL, LH30AL | HSR30A 38 | 80 | 10 | 22 | 6 9 |M8x16| LSG-08 | LSG-08S
35 LWH35 | LS35AL, LH35AL | HSR35A 45 | 88 | 10 | 25 | 6 9 |M8x16| LSG-09 | LSG-09S

x 2 HE2 WATA =Xt FA4F0[0, 00|77} 255k= 242 ofgLCt

E 826 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



5PC

Linear Stopper m

aLo2el ozuxie LSB

AE AHQl2|A
— Elimm
o — SS400  SUS304 |
) ER -
¥ 24E % ‘ %
Az | -SZHx=E \ -
- (SCMA35/EEA) — 17} |
- i
1 - S2RAR|IZE | ¢D
AHOIRIA | T =
’ H ZEIIEIE o ugum) — 174 W D
S Maker * Al2|= W H T D [EES =
RS IKO NSK THK =ZE  |SS400(22M)| SUS304
SRS15M 38 | 30 | 12 | 55 [M5%x30| LSB-01 | LSB-01S
15 LWH15 LS15AL HSR15A 38 | 38 | 12 | 55 [ M5x40| LSB-02 | LSB-02S
LH15AN
o LWH20 [ S20AL. LH20AN HSR20A 38 | 45 | 12 | 55 | M5x45| LSB-03 | LSB-03S
SRS20M 38 | 35 | 12 | 55 [ M5x35| LSB-04 | LSB-04S
o5 SRS25M 38 | 40 | 16 | 6.6 | M6Xx40| LSB-05 | LSB-05S
LWH25 LS25AL. LH25AL HSR25A 38 | 50 | 16 | 6.6 | M6x50| LSB-06 | LSB-06S
30 LWH30 LS30AL. LH30AL HSR30A 38 | 57 | 16 | 9 |mM8x60| LSB-07 | LSB-07S
35 LWH35 LS35AL. LH35AL HSR35A 50 | 63 | 16 | 9 |M8x65| LSB-08 | LSB-08S

% = ME2 IWATA SXt #450[0, Hl0|7{7} 255k= 22 ofgUCh

aoi2en ozuxge LSD

Linear Stopper m

AEl AHQl2[A
EHelimm
| SS400 SUS304 o
| QN E
e l . BE&E
(7l - S| =
AEI - FLHXZEE ; T i
LU . = (SCM435/SEM) — 27i T U—( -
: NN
& « QZR2E 2-pD B
AH|el2|A P T
(SUSXM?) - 294
)
HS Maker « Al2|= S =4
AO|= IKO NSK THK WiH BJE | F P T)D ZE | SS400EM) | SUS304
SRS15M |32 (30|18 |12 | 12|16 |25 | 55| M5x12| LSD-01 LSD-01S
15 LWH15 LS15AL HSR15A |32 |38 |18 |12 |12 |16 | 25 | 55| M5%x12| LSD-02 LSD-02S
LH15AN

LWH20  |LS20AL LH20AN|  HSR20A 32|45 |18 |12 |12 | 16 | 25 | 55| M5X12 LSD-03 LSD-03S

20 SRS20M |32 | 35 | 18 [ 12 |12 | 16 | 25 | 55| M5X12 LSD-04 LSD-04S
o5 SRS25M | 32 |40 |23 (12|12 |18 | 32 | 6.6 | M6X12 LSD-05 LSD-05S

LWH25  |LS25AL, LH25AL] HSR25A | 32 | 50 |23 | 12 | 12 | 18 | 32 | 6.6 | M6X 12 LSD-06 LSD-06S
30 LWH30 |LS30AL, LH30AL| HSR30A | 38 | 57 |28 |16 |16 {20 | 38 | 9 | M8X16 LSD-07 LSD-07S
35 LWH35 |LS35AL, LH35AL| HSR35A | 45 |63 | 31 |16 | 16 [ 25 |45 | 9 | M8X16 LSD-08 LSD-08S

X 2 S22 IWATA =Xt #A4F0[0, 00|77} 255k= 22 orgLth

www.spctech.co.kr IWATA Linear Stopper

827 P}




"
diwarta

ao2ael ozxig LSC

Linear Stopper m

A" AgolRIA -
SS400  SUS304
P 2.6D
H4E e,
W Az | - SZRIRIEE
J T | (SCm435/EEM) - 271 .
i‘-‘ Agjolzj | * SHUAIEE ® -
T | (Susxw) - 2 I w
-
S Maker * Al2|= Ha =4
AtO|= IKO NSK THK WiH|B J P|T|P| ge SS400(E3MM) | SUS304
15 SRS15M 50 | 30 | 12 | 18 | 35 | 12 | 55 [M5%x16| LSC-01 | LSC-01S
LWH15 LS15AL HSR15A
50 ol 50 | 38 | 12 | 18 | 35 | 12 | 55 |M5%16| LSC-02 | LSC-02S
15 LH15AN 50 | 43 | 12| 18 | 35 | 12 | 5.5 [M5x16| LSC-03 | LSC-03S
20 LWH20 LS20AL,LH20AN|  HSR20A 50 | 45 | 12 | 20 | 35 | 12 | 5.5 |M5%16| LSC-04 | LSC-04S
o5 SRS25M 50 | 40 | 16 | 20 | 35 | 16 | 6.6 |M6x20| LSC-05 | LSC-05S
LWH25 LS25AL.LH25AL |  HSR25A 50 | 51 | 16 | 20 | 35 | 16 | 6.6 |M6x20| LSC-06 | LSC-06S
30 LWH30 LS30AL,LH30AL|  HSR30A 65 | 57 | 16 | 24 | 45 | 16 | 9 |M8x20| LSC-07 | LSC-07S
35 LWH35 LS35AL.LH35AL|  HSR35A 65 | 63 | 16 | 24 | 45 [ 16 | 9 |M8x20| LSC-08 | LSC-08S
X 2 HEBS IWATA SXt 7F2Z0[0, Hlo|7{7} BEsH 2 ofgLIc,
aLjoj2sn oguxig LSE Linear Stopper m
A AH[Ql2|A
P Hel:mm
S$S400  SUS304 ! !
saz
AEl | SZHEAEE
(SCM435/E =) — 274
c QZHX|I2E
(SUSXM?) - 2k
/
LHS Maker « Al2|= B =
NUES IKO NSK THK W H | ST s2 T|P| g SSA00(EAM) | SUS304
SRS15M 50 |30 |16 | 11 | 32 | 12 | 55 [M5%35| LSE-01 LSE-01S
15 LWH15 LS15AL HSR15A 50 | 38 | 16 | 16 | 32 | 12 | 55 |M5x40| LSE-02 LSE-02S
LH15AN 50 | 43 | 16 | 16 | 32 | 12 | 55 |M5x45| LSE-03 LSE-03S
SRS20M 50 | 35 | 21 | 12 | 32 | 12 | 55 |M5x40| LSE-04 LSE-04S
20 LS20AL 50 | 43 | 21 | 17 | 32 | 12 | 55 |M5x45| LSE-05 LSE-05S
LWH20  |LS20AL. LH20AN| HSR20A 50 | 45 | 21 | 19 | 32 | 12 | 55 |M5%50| LSE-06 LSE-06S
o5 SRS25M 50 | 40 | 24 | 16 | 36 | 16 | 6.6 |M6X45| LSE-07 LSE-07S
LWH25  |LS25AL. LH25AL| HSR25A 50 | 50 | 24 | 23 | 36 | 16 | 6.6 |M6x55| LSE-08 LSE-08S
30 LWH30  |LS30AL. LH30AL| HSR30A 65|57 | 29| 27| 45| 16 | 9 |M8x60| LSE-09 LSE-09S
35 LWH35  |LS35AL, LH35AL| HSR35A 75 |65 |35 |30 | 55|16 | 9 |M8x70| LSE-10 LSE-10S
% 2 HEBE2 IWATA SXt FZAZ0|0, Hl0|7{7t B35k A2 ofduct,

E 828 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



5PC

alloi2en ozuxe LSM

Linear Stopper m

Ag AgolalA S
SS400  SUS304 2D P T'
_ - LTI @: * @3
= \} } }\ I
p & Baz ; 1 W
A | -S2AREE | — =
== | (SoM435/EAAY) - o) o | i
’ B]." Adjoiaa | + S2RIZE st [
' h =HES2 ] (susxv7) - 29 W )
IS Maker * Al2|= CPS =
W|H|[St|s2|P|T|D| 4 —
Ato]= IKO NSK THK == | SS400(E5%M) | SUS304
18 SHW12
50|30 |25|10 | 35|12 | 55| M5%x35| LSM-01 | LSM-01S
24 SHW14
33 |LWFF33. LWFS33| LW17EL SHW17 | 65|32 |34|12 |50 |12 |55|M5x35| LSM-02 | LSM-02S
37 |LWFF37. LWFS37| LW21EL SHW21 65|35 (38| 15|50 | 12 | 55| M5x40 | LSM-03 | LSM-03S
42 | LWFF42,LWFS42 |  LW27EL SHW27 | 75| 45|43 |17 |60 | 16 | 66| M6X50 | LSM-04 | LSM-04S
69 LWFF69 LW35EL SHW35 |125| 50 | 70 | 22 [100| 16 | 9.0 | M8x55 | LSM-05 | LSM-05S
X 2 HZS WATA SXt 72200, Bo|7{7t 255t 242 obguict,

E|L|OJAED O|EX

|R
(=

LSF

Linear Stopper m

AR ES: [ EIES
¢D EHlimm
- SS400 SUS304
) ” O -
F) W E|
245
Ag 7RIS T
(SoMAs 220 - N
(%]
. - 27IBIXIEE
T T | sema| Somne= 1
(SUSXM?) 174 S W,
LS Maker ¢ Al2|= [CPS =4
Ato|= IKO NSK THK WIiHIE ST S2) T1D ) g2 SS400(Z2HM) SUS304
SRS15M | 32|30 | 9 | 15 | 11 | 12 |55 |M5%x35|  LSF-01 LSF-01S
15 LWH15 LS15AL HSR15A |32 (38| 9 | 15 | 16 | 12 | 55 [M5x40|  LSF-02 LSF-02S
LH15AN 32 |43| 9 | 15 | 16 | 12 | 55 |M5x45|  LSF-03 LSF-03S
SRS20M |32 |35 | 9 |[175| 12 | 12 | 55 |M5%X40|  LSF-04 LSF-04S
20 LS20AL 32 | 43| 9 (175|117 | 12 | 55 |M5x45|  LSF-05 LSF-05S
LWH20 LH20AN HSR20A |32 | 45| 9 [17.5| 19 | 12 | 55 [M5x50|  LSF-06 LSF-06S
SRS25M |32 |40 | 7 | 19 | 16 | 16 | 6.6 |M6X45| LSF-07 LSF-07S
25 LS25AL 32|48 | 7 | 19 | 19 | 16 | 6.6 |M6x50| LSF-08 LSF-08S
LWH25 LH25AL HSR25A |32 |50 | 7 | 19 | 23 | 16 | 6.6 [M6X55  LSF-09 LSF-09S
30 LWH30 LS30AL.LH30AL | HSR30A | 40 |57 | 10 | 22 | 27 | 16 | 9.0 |M8x60| LSF-10 LSF-10S
35 LWH35 LS35AL,LH35AL | HSR35A | 50 [ 65| 10 | 30 | 30 | 16 | 9.0 |[M8x70|  LSF-11 LSF-11S
X 2 HE2 IWATA Xt #ZAZ0|H, o077t E5dt= A2 OfLIct

www.spctech.co.kr

IWATA Linear Stopper

829 P}



aLoAEn ozuxie LS

AE AH|Qlz[A
SS400  SUS304
saz e
Ag | -SRIRIEE i x
(SCMA435/E5 M) — 27 |
_ J
. S7kz|I2E
AH[OIZIA gl
RHEEA | iomn) - o w D
2 Maker * Al2|= w | H b T 5 B S
JUES IKO NSK THK EE | 59400(23M) SUS304
SRS15M 38| 30|16 | 12 | 55 [M5x35]  LSJ-01 LSJ-01S
15 LWH15 LS15AL HSR15A 38 | 38| 16 | 12 | 55 |[M5x40|  LSJ-02 LSJ-02S
LH15AN
38 | 45 | 16 | 12 | 55 |[M5x50|  LSJ-03 LSJ-03S
2 LWH20 LS20AL.LH20AN | HSR20A
SRS20M 38| 35|16 | 12 | 55 |[M5x40|  LSJ-04 LSJ-04S
- SRS25M 38 | 40 | 16 | 16 | 6.6 |M6X45|  LSJ-05 LSJ-05S
LWH25 LS25AL.LH25AL|  HSR25A 38 | 50 | 16 | 16 | 6.6 |M6x55|  LSJ-06 LSJ-06S
30 LWH30 LS30AL.LH30AL|  HSR30A 38 | 57 | 20 | 16 | 9.0 |M8x60| LSJ-07 LSJ-07S
35 LWH35 LS35AL.LH35AL|  HSR35A 50 | 63 | 25 | 16 | 9.0 |M8x70|  LSJ-08 LSJ-08S
¥ 2 HE2 IWATA SXH FAZ0|H, #0177 E&st= A2 OrdLct.
zoi2aen ozuxig LSH Linear Stopper m
AHIOIg|A
AH[Ql2|A Erefmm
SUS304
- ¢»D
1_‘_""""—--.._________-_ T
‘ = p
C::==._ ' D o T
i g2z
- S2pRiRIZE o 2.0
_ (SUSXM7) — 27K s1'¢ & -
'i‘ « AZ2IotY w
(SUS304) — 171 Y,
2 Maker * Al2|= e
AEE I
A|= IKO NSK THK w H 2 = L 2 TEE= =e
.5 SRS15 25 25 133 45 12 34 | M3x35| LSH-01S
LWH15 | LS15.LH15 | HSRi15 25 32 155 45 14 45 | M4x50| LSH-02S
20 LWH20 | LS20.LH20 |SRS20.HSR20| 32 32 20.5 5.0 16 55 |M5x55| LSH-03S
o5 SRS25 32 30 235 5.0 21 6.6 | M6x50| LSH-04S
LWH25 | LS25.LH25 | HSR25 32 36 235 7.0 21 6.6 | M6X60| LSH-05S
% LWH30 | LS30.LH30 | HSR30 38 43 285 9.0 24 9 | M8x70| LSH-06S
LS30AL 38 43 285 9.0 24 66 | M6x70 | LSH-08S
35 LWH35 | LS35.LH35 45 45 345 | 100 24 9 | M8x75| LSH-07S

x 2 HE2 WATA =Xt F24F0[0, 00|77} 25sk= 22 ofgLct

E 830 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quiality...



5PC

Linear Stopper m

ao2aey ozxig LSK

A" AHQIEA
Helimm
S25C  SUS304
ISO2H0|E M
(FEFZEROIE
_ 7 %
a — | __ N
S
L3 L2 L1
L
/
2 Maker « Al2|= =H
JUES KO NSK THK Lt 2 /L8 D D1 LA M Foerisratle) | sUS304
SRS15M  |33]175/ 55| 6 | 8 |58 6 |M3|  LSK-01 LSK-01S
15 LS15AL 411225 55| 6 8 |58| 6 |M3 LSK-02 LSK-02S
LWH15 HSR15A 451220/ 63| 8 |10 |7.3| 8 |M4 LSK-03 LSK-03S
LH15AN 481250, 63| 8 |10|7.3| 8 |M4 LSK-04 LSK-04S
20 SRS20M 41121.0090| 9 |12 93| 10| M5 LSK-05 LSK-05S
LWH20 LS20AL, LH20AN HSR20A 50(24.0/ 95|10 | 12 |9.3| 10 | M5 LSK-06 LSK-06S
SRS25M 49|23.0/10.0| 11 | 15 {10.8) 13 | M6 LSK-07 LSK-07S
25 LWH25 LS25AL, LH25AN HSR25A 57128.0/10.0| 11 | 15 |10.8| 13 | M6 LSK-08 LSK-08S
LWH25 LH25AL HSR25A 601(27.0/10.0| 11 | 15 |10.8/ 13 | M6 LSK-09 LSK-09S
0 LS30AL 66(32.0/10.0] 11 | 15 [10.8/ 13 |M6|  LSK-10 LSK-10S
LWH30 LH30AL HSR30A 70130.0/13.0| 14 | 19 {13.8/ 17 | M8 LSK-11 LSK-11S
35 | LWH35 | S35AL.LH35AL| HSR35A | 75330 13.0| 14 | 19 138 17 |M8|  LSK-12 LSK-12S
% 2 HZS WATA S 7A20/H, Hlo[747} B55t= %2 ofgLick
aojasn zu=eie LSPN - RH Linear Stopper m
A AHQIEA o
o -mm
$25C  SCS13 A—A = A
Q)
e L S P 2-¢D
T M @ E ‘
- 2 NEFTHET VAN |
C ag | SoMad/EEM) -2h | f o =B
28 Xemse =\ e .
(SBFHB-40M.8:40M) — 174 i ARy
_ NEEETRET | o
' B"‘; Affolaa| SUSMD) - 2%t W 620015
' h ST AETEE C T
(SBFHB40M.840M) — 174 Y,
W H A B E F G © S P T M D g4 L £t
2= S25C(EEM) | SCS13
12 | 20 [140]20] 7 | 9 | 4 | 5 | 14| 12 | 32 | MexPo75(m) | 4.5 |Max12| 44 | LSPN-01-RH |LSPN-01S-RH
14 | 23 17020 8 | 10| 4 | 5 | 16 | 15 | 38 | M6xPO.75() | 55 |M5x12| 44 | LSPN-02-RH | LSPN-02-RH
16 27 |195] 25 11 12 5 8 19 17 44 | M8XP1.0(#) | 6.6 |M6x12|45.5| LSPN-03-RH | LSPN-03S-RH
22 | 34 |260| 25| 13 | 16 | 5 8 | 25 | 22 | 57 | M8XP1.0(#) | 9 |M8x16|45.5| LSPN-04-RH =

www.spctech.co.kr IWATA Linear Stopper

831 P}



"
diwarta

g|L|0{AED ZHTEE}Q!

 LSPN-FH

Linear Stopper m

AE AH|2l2|A to|
=2limm
S25C SCS13 gj OJ
s | p | 26D
24z ® L
p= SR |I2E M \ E
* ae | (SCMA35EEM) - ) ¢ 1k
T | cAEnEE T o [ Tl
(SBFHB-40M.8:40M) — 17H Lo & i u]
_ S o
AH[ola|A (SUSXM?) - 274 e G£0.015
gl T | ameme S50 g
(SBFH6-40M.8-40M) — 17K -
W|H|A|B|E|F|Gg|Cc|S|P|T M D | 25| =4
EE S25C(E5HM) SCS13
12 | 20 [14.0| 2.0 9 | 4| 5 |14 | 12 | 32 |M6XP0O.75(#) | 45 |M4x12| 44 | LSPN-01-FH | LSPN-01S-FH
14 | 23 [17.0| 2.0 10 | 4 | 5 | 16 | 15 | 38 |M6XP0.75(#)| 5.5 |M5%12| 44 | LSPN-02-FH | LSPN-02S-FH
16 | 27 |195]( 25| 11 | 12 | 5 8 | 19 | 17 | 44 |M8XP1.0(#) | 6.6 |[M6X12|45.5| LSPN-03-FH | LSPN-03S-FH
22 | 34 [26.0/ 25|13 |16 | 5 | 8 | 25 | 22 | 57 |M8xP1.0(#) | 9.0 |M8x16|45.5| LSPN-04-FH -
aoiaen zueerel LSP - RN LmearStorJPerm
AE AH[Qlz|A tel
ctimm
8250 SCS13 {@}0 O\}
Ll s p| \26D
Sl Mo O e
. S21ERE
SCM435/Z=H) — 27} — i
TRK S R R =
(SBRN5M.8M) - 174 s uj
_ - SARIZE w| o
’ i Agjolzia| SUSXMD -2 | “osoors
' i’ THEEE | L AENEE —~Cl
(SBRNBM8M) - 174 T %
W | H|A|lB|lE|F|laglcl|ls|pPp|T|M|D| 25 | L 24
2E S25C(SHM) SCS13
12 | 20 |150| 20| 7 | 9 | 4 | 5 | 14 | 12 | 32 | M5 | 45 | M4x12 LSP-01-RN | LSP-01S-RN
14 | 23 |180| 20| 8 |10 | 4 | 5 | 16 | 15 | 38 | M5 | 55 | M5%x12 LSP-02-RN | LSP-02S-RN
16 | 27 |195| 25|11 |12 | 5 | 8 | 19 | 17 | 44 | M8 | 6.6 | M6X12 | 55 | LSP-03-RN | LSP-03S-RN
22 | 34 |260| 25|13 |16 | 5 | 8 | 25 | 22 | 57 | M8 | 9.0 | M8%x16 | 55 | LSP-04-RN =

E 832 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



5PC

g|L|AED

Linear Stopper m

A" AHQIRA —
._-rl-mm
$25C  SCS13 oo
L[ls_p| \20D
Haz M ® ‘ £
- S2xIZE o=
e | (SCMA435/EEM) — 23) =
== c AETHEE T < u_’
(SBRN5M.8M)  — 17
- SZRIRIEE w| o
AE|olz]|A (SUS_XM7) - 274 G£0.015
=  AEMHEE oL
(SBRN5M.8M) = 174 /
wW| H|A|B|E|F|lGg|c|s|P|T|M|D| 5 | L =4
gE S25C(EEM) SCS13
12 20 |15.0| 2.0 9 4 5 14 12 32 M5 | 45 | M4%X12 | 3.5 LSP-01-FN LSP-01S-FN
14 | 23 180/ 20 10| 4 | 5 | 16| 15|38 | M5|55|M5x12| 35 | LSP-02-FN | LSP-02S-FN
16 27 |195| 25 11 12 5 8 19 17 44 M8 | 6.6 | M6X12 5 LSP-03-FN LSP-03S-FN
22 | 34 [260] 2513 16| 5 | 8 | 25 | 22 | 57 | M8 | 90 | M8x16| 5 LSP-04-FN -
aoaey zueel LSPN-U
AE AHQlZIA o
S25C  SCS13 e R
=== o S|P
Baz L
) - S7RIREE Mmf =
am | (SCM4Z5/EEM) - 23f T o tHEE
== | AEmEE = <| T L
(SBUN6.B) - 17H b 2O )
_ - SZRIRIZE W‘ o
y | agolaa| SUSMD - 23l - R
= CAEHEE Cl. ;
- 22f|EH(@R|L) (SBUNG.8) -1 )
W| H|A|lB|E|F|agl|lc|s|P|T M D | 5 | L £4
EE S25C(ExM) | SCS13
12 | 20 14 | 2.0 7 9 4 5 14 12 | 32 |[M6XP0O.75(#f) | 4.5 | M4x12 | 51 LSPN-01-U LSPN-01S-U
14 | 23 16 | 2.0 10 4 5 16 15 | 38 [M6XP0O.75(#) | 55 | M5%x12 | 51 LSPN-02-U LSPN-02S-U
16 | 27 | 20 | 25| 11 12 5 8 19 17 | 44 |[M6XP0O.75(#f) | 6.6 | M6X12 | 51 LSPN-03-U LSPN-03S-U
22 |34 |26 |25|13 |16 | 5 | 8 | 25 | 22 | 57 | M8xP1.0() | 9.0 | M8x16 | 61 | LSPN-04-U _

IWATA Linear Stopper

833 P}

www.spctech.co.kr




"
diwarta

aioiasn zZuseel LSPU

Linear Stopper m

A" AHRIEA -
$25C SCS13 NN
ASZASY
20D
S P
-~ ®
i g2z M 1L,E
E - S2RAR|ZE - 2]
A8 | (SOM435/EERM) - 2 | T < © o
D=2EHGBUS) 174 gl
¥ - SZRRIZE w| = czoos| |
" Ff’ AHQIA | (SUSMD) - %) cl .
SaElSBUS) - 174 W,
w|H|a|B|E|F|lag|c|s|P|T|mM|D]| I St
25 | So5C(EEM) | sCs®3
14 23 | 155 ] 20 8 10 4 5 16 15 38 M4 | 55 | M5X12 LSPU-01 LSPU-01S
16 27 | 195 | 25 11 12 5) 19 17 44 M4 | 6.6 | M6X12 LSPU-02 LSPU-02S

aoi2er 22z SBN

Linear Stopper m

28 CHef:mm
S45C 2¢D =
ISOZH0[E =
(DEISEROE O
s4E
c SZANFURBE
(S45C/HM3IITEER) — 271
-
w P E arT D B&EE =4
38 22 8 13 6.6 M6X16 SBN-01
38 22 8 16 6.6 M6 %20 SBN-02

aioj2el 2smz=z SBT

Linear Stopper m

Agl o
o mm
$45C | | 2M
:
(PEZE|E T T e O
P E
_
4
w P E or M 2
38 22 8 13 M8 SBT-01
38 22 8 16 M8 SBT-02

E 834 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...




5PC

ao2ey 2enzx SBAH(BER

Linear Stopper m

A chey:
S45¢C M 2.p =TT
- I THRY T
' @
saz -
- =gz RE =
?f (S45C/HMR7 IR EED) - 27
- AEI{2E(SBRNSM.8M) — 174 /
W P E M 0T M D Py =
38 22 8 17 13 M5 66 MBX 16 SBAH-01
38 22 8 215 16 M8 6.6 MBX 20 SBAH-02

aoaen semzy SBAS(EER

Linear Stopper m

2g ool
3 THlimm
S45C | 26D "
@
= @ =
-/
ela |
HAI ]
TR M
- HES2RARZE -
?i (SA5C/NEIIaEED) ~ 27 Ol b
- AETHZE(SBRNSM.8M) — 174 _
W P E M T M D SaEE 29
44 18 16 48 13 M5 %8 6.6 M6 X 16 SBAS-01
44 18 16 49.5 16 M8X10 6.6 M6 X 20 SBAS-02

a2y 2em=z SBAW(EER

ag
S45C
\

HAD
T

« MESZUHURIZE
(S45C/HA3TII B ES)

- 271
« AETHZEE(SBRNSM.8M) — 174

w P E (L) o M D SEEE =4
50 18 16 58 13 M5X8 6.6 M6 X 16 SBAW-01
50 18 16 61 16 M8x 10 6.6 M6 X 20 SBAW-02

www.spctech.co.kr

IWATA Linear Stopper

835 P}




s
diwarta

Linear Stopper m

auoiaen 2enz2 SBBH(EE

s M2 Helimm
S45C 2-M1
,
N
N[0
P E
W
| |
Haz [ @71
| |
« AETHEE(SBRNSM.8M) — 170 " Y.
W P E (L) T M1 M2 EH
38 22 8 17 13 M8 M5 SBBH-01
38 22 8 21.5 16 M8 M8 SBBH-02
B|L|0AET Linear Stopper m
~8 Helimm
S45C @ —
) -
M2 @
2-M1
* i i
2 @ o = U
g2z @ ]
+ AET{EE(SBRNSM.8M) — 174 ! /
W P E (L) T M1 M2 =4
44 18 16 48 13 M8 M5X%X8 SBBS-01
44 18 16 49.5 16 M8 M8X10 SBBS-02

auo2en 2enzz SBBWI(BE

Adl
= S45C
= \
it
f g,ﬁ-f‘;..
. 243
. EE
« AETHEE(SBRNSM.8M) — 174 O -
W P E (L) T M1 M2 =4
50 18 16 58 13 M8 M5x 8 SBBW-01
50 18 16 61 16 VE) M8%10 SBBW-02

% 2 HE2 WATA =Xt FAF0[0, 00|77} 25shk=22 orgLch

E 836 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quality...



5PC

aioj2en 2emzz SBCH ( =

%

Linear Stopper m

s =Helimm
845C
@
- 1 @ LR |
0]
P
W
RE&E =
- HESZEAIZE =
ff (S45C/HM37 | EED) - 27
« AETHEE(SBFN5M.8M) — 171 %
w P E (L o7 M D HasE e
38 22 8 16.5 13 M5 6.6 M6 16 SBCH-01
38 22 8 21 16 M8 6.6 M6 X 20 SBCH-02

aoj2er 2snz2 SBCS(E >

Linear Stopper m

s 2 el
oD THRimm
S45C = i
@
= “z
&
Hi | w
Haz
M
e N
(Sd5C/N7I28ED) — 27 O &
« AEI{ZE(SBFN5M.8M) — 171 : /
W P E ) o7 ) M CEETS B
44 18 16 47.5 13 6.6 M5X8 M6X 16 SBCS-01
44 18 16 49 16 6.6 M8X10 M6 X 20 SBCS-02

2ILIOAENH AEHEE SBCW(

Linear Stopper m

AE| crol:
- s45C 2:4D =T
‘ E .
D)
3 oz
>
N
saz i
- HESZIRR|ZE ZM
(S45C/HM37 12 EED) ~ 27 &1 f
+ AETHEE(SBFNSM.8M) — 174 %
W P E (L) ) D M BLEE =H
50 18 16 57 13 6.6 M5X8 M6 X 16 SBCW-01
50 18 16 60 16 6.6 M8Xx 10 M6 X 20 SBCW-02

www.spctech.co.kr

IWATA Linear Stopper

837 P}




s
diwarta

Linear Stopper m

aoaey 2emzz SBDH(
~8 chlimm
$45C .
,
"*@ n @’” A 3
@
P I E
W
| |
i
« AET{2E(SBFN5SM.8M) — 174 o -
W P E (L) T M1 M2 ZH
38 22 8 16.5 13 M8 M5 SBDH-01
38 22 8 21 16 M8 M8 SBDH-02
ao2en 2=z SBDS(E Linear Stopper m
Ag
S H
S45C Fmm

L}i
w1/ w
3 ; z
o
Baz @ —
« AETZE(SBFNSM.8M) — 171 T Y,
W P E (L) T M1 M2 =43
44 18 16 47.5 13 M8 M5X%X8 SBDS-01
44 18 16 49 16 M8 M8X10 SBDS-02
2|L|{AE T
Al
S45C e
'@ o 221
; il
)
|
3 | ez
* e
f
P
el &
« AETHZE(SBFN5M.8M) — 171 O Y.
w P E (L) ar M1 M2 =i
50 18 16 57 13 M8 M5 x 8 SBDW-01
50 18 16 60 16 M8 M8X10 SBDW-02

E 838 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...




5PC

ZIL|AET AEDEE

Linear Stopper m

A (@ = FHeLh
Eeimm
S45C
o Sp R
Dd =
F |
HEAL |k LT _IH
MxP
— 9
s - C{ )
S48 * Apsenel (] =
ol
. 874E(SUS304) - 17 HRC3%0K |1 )
MXP L K S (E) SR F H T =H

40 4.0 10 115 10 8 4.0 50 SBRH6-40M

M6 X 0.75 (#8) 50 4.0 10 11.5 10 8 4.0 50 SBRH6-50M
60 4.0 10 115 10 8 4.0 5.0 SBRH6-60M

40 55| 13 15.0 12 10 55 6.5 SBRH8-40M

M8 % 1.0 (#H) 50 55 13 15.0 12 10 55 6.5 SBRH8-50M
60 55 13 15.0 12 10 55 6.5 SBRH8-60M

o2l 2emEe SBFH Linear Stopper m

) = 7H=LIA
Al (@) = 7h=LAL -
S45C
o MxP
ol o
o |k L R H
MXP
) . @/\
— o~
HAI I \ \YJR w
T X AMMEERZ =
oy T
. S7M4E(SUS30H) - 174 HRC350 D
MXP L K S (E) F H T B
40 4.0 10 15 8 4.0 5.0 SBFH6-40M
M6 X 0.75 (#8) 50 4.0 10 15 8 4.0 5.0 SBFH6-50M
60 4.0 10 1.5 8 4.0 5.0 SBFH6-60M
40 55 13 15.0 10 55 6.5 SBFH8-40M
M8 X 1.0 (##) 50 55 13 15.0 10 55 6.5 SBFH8-50M
60 55 13 15.0 10 55 6.5 SBFH8-60M
zuoi2er 2enze SBRN Linear Stopper m
22 Himm
S45C o
ELE TS 2
— >\ "
K=+0.01 ‘ L
X AMMEZEXZ| HRC350] 4 -
M(HE) L N K S (E) SR Ed
M5 5 11.0 4.0 8 9.2 10 SBRN5M
M8 7 155 55 13 15.0 12 SBRNSM

www.spctech.co.kr

IWATA Linear Stopper




aiojaen 2emze SBFEN

Linear Stopper m
S:5EC

FHHLAES

@ _
K=+0.01 !
L
% AHMEZIR2] HRC350/4) N
/
M(EE) L N K S (E) =4
M5 46 105 35 8 9.2 SBFN5M
M8 7.0 15.0 5.0 13 15.0 SBFNSM
o2y 2en2ze SBUH

g

S2|Et
S45C  SEM/AZ90
(88) = FH=LA H T
H‘ =
& E=—= f—
©
L2
L1 L3
~, MXP
)
e @ C@% g
Meto] Qajet 2R @ JHsELIC rSAUEEUSsY -1l b %
MXP L D S L1 L2 H F D1 L3 St (E) T =4
M6 X 0.75 (##) 51 15 14 43 36.5 4 8 14 15 10 11.5 5.0 SBUH6
M8 x 1.0 (#f) 61 15 14 53 47.5 6 8 14 15 13 15.0 6.5 SBUH8
auoi2sn 2 zye) SBU Linear Stopper m
L2|EH
2 - o~
HAM/F=00
— | QN I N S o
2% s
[92)
[m)
©
L2 (6)
L
J
D L D1 D2 D3 L1 L2 =t
14 15 9 52 1 8 2 SBUH-U
* SBUHOl mHIE SaErelLict

E 840 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality



2lLIojAED <22EE

E(ZH2

Linear Stopper m

- EHelimm
A
o
o
<
i= by =)
EFe+ g ¢
AT
=0
- HESZRR|ZE
(S45C/HM3TITEES) — 14 U
- 38ZAHSUS30) - 1f Y,
D D1 D2 H U HE&EE =4
15 7.6 6.2 11 8 M4 x10 SBU15
20 9.2 7.2 13 9 M5X%x 12 SBU20
25 9.2 7.2 13 9 M5x 12 SBU25

www.spctech.co.kr

IWATA Linear Stopper

-
(]
Q
Q
()
e
%]
—
©
Q
£
|

sn P}



s
diwarta

Linear Stopper m

CED
a2zl LSA

2Helals CHef:mm
SUS304
|
o -
I we | |
W T
54
= . X
E"%%EH" Mﬁ‘(kgr ﬂ:‘K— Tl W H B T 6D Z2(g) =L FElsE2
SRS15| 25 30 5 6 55(M52) 35 LSA-01S
15 LWH15 | LS15 | HSR15| 25 38 6 6 55(M58) 44 LSA-02S
LH15 25 43 6 6 55(M58) 50 LSA-03S
SRS20 | 32 35 5 6 5.5(M52) 52 LSA-04S
20 LS20 32 43 7 6 6.6(M62) 64 LSA-05S
LWH20 | LH20 | HSR20 | 32 45 8 6 6.6(M62) 67 LSA-06S
o5 SRS25 | 32 40 8 6 6.6 (M62) 60 LSA-07S
LWH25 | L$25[H25 | HSR25 | 32 50 8 6 6.6 (M62) 75 LSA-08S
30 LWH30 |LS30LH30| HSR30 | 38 57 10 6 9(M88) 101 LSA-09S
35 LWH35 | L335,H35 45 63 12 6 9(M8E) 132 LSA-10S

x 2 HZS WATA SX F2B0(0, 00|77} B33t 242 okgUr,

aiLo2eq LSB Linear Stopper m
AHIOIZ|A
222~ CHlimm
SUS304 2,
S
SUMSEES HoE | “T
I
_ ._] M T
il
M
w/2 \‘\
/ i
; ;/ Ll D
2 w
4 )
IHS Maker « Al2|= - =
= H.' AO9J|=IX
AYE | KO | NSK | THK W H T @10 820 L FEleER
SRS15 38 30 12 5(M58) 101 LSB-01S
15 LWH15| LS15 | HSR15 38 38 12 55(M59-) 129 LSB-02S
LH15 38 45 12 5(M58) 153 LSB-03S
0 SRS20 38 35 12 5(M52) 118 LSB-04S
LWH20 | L$20H20 | HSR20 38 45 12 55(M59) 153 LSB-03S
o5 SRS25 38 40 16 6(M62) 179 LSB-05S
LWH25 | L$25H25 | HSR25 38 50 16 6.6(M6%) 225 LSB-06S
30 LWH30 | LS30LH30 | HSR30 38 57 16 9(M88) 240 LSB-07S
35 LWH35 | 1$35H35 50 63 16 9(M88) 362 LSB-08S

x 2 HS2 WATA =Xt F#A4F0[0, Hj0|77} 255k= 242 ofgLct,

E 842 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quality...



5PC

Linear Stopper m

CED
o2y LSD

~HEE= Eelimm
SUS304 I | j -
| \2-audxEes 3¥E
2 c
Q. =
_?_7,
|
Il Il - o’;
b ol ‘
H\ D T ‘
W
%
oS NEES
1= i w|H|E|F|B|P]|T 6D | 33 8 | sojsEe

geE | IKO | NSK | THK
SRS15| 32 30 12 12 18 16 25 | 55(
15 |LWH15| LS15 |HSR15| 32 38 12 12 18 16 25 | 55(M58) 147 LSD-02S
LH15 32 45 12 12 18 16 25 | 55(M58) 168 LSD-03S
SRS20 | 32 35 12 12 18 16 25 | 55(M58) 138 LSD-04S
5.5(
6.6(

M5&) 122 LSD-01S

20 LWH20 | LS20LH20 | HSR20 | 32 45 12 12 18 16 25 M58) 168 LSD-03S

SRS25 | 32 40 12 12 23 18 32 M6E&) 170 LSD-05S
LWH25 | LS25[H25 | HSR25 | 32 50 12 12 23 18 32 | 6.6(M68) 200 LSD-06S
30 | LWH30 | LS30LH30 | HSR30 | 38 57 16 16 28 20 38 9(M8E) 352 LSD-07S
35 | LWH35 | LS35[H35 45 63 16 16 31 25 45 9(M88) 497 LSD-08S

X 2 HME2 IWATA =X} F#A4F0[0, H0|77} 25sk= 22 OrgLCh

25

CED
a2l LSE

Linear Stopper m

Ael2A HHelimm
SUS304
/
=) WVEES
. £H° I:‘("gkerN ;:(El—THK w H | st | s2 | P T ¢ D 5(g) = FetsEe
SRS15| 50 30 16 11 32 12 55(M58&) 111 LSE-01S
15 LWH15 | LS15 | HSR15 50 38 16 16 32 12 55(M58&) 138 LSE-02S
LH15 50 43 16 16 32 12 55(M58&) 160 LSE-03S
SRS20 | 50 85 21 12 32 12 55(M58&) 125 LSE-04S
20 LS20 50 43 21 17 32 12 55(M58&) 150 LSE-05S
LWH20 | LH20 | HSR20 | 50 45 21 19 32 12 55(M5&) 155 LSE-06S
o5 SRS25 | 50 40 24 16 36 16 6.6 (M6 &) 177 LSE-07S
LWH25 | LS25H25 | HSR25 50 50 24 23 36 16 6.6 (M6&) 214 LSE-08S
30 | LWH30 |LS30LH30 | HSR30 | 65 57 29 27 45 16 9(M8&) 301 LSE-09S
35 | LWH35 | LS35[H35 75 65 £5 30 55 16 9(M8 &) 407 LSE-10S
X 2 HE2 IWATA SXF FZAZ0(0, Ho|77t 255t R otdLICt
www.spctech.co.kr IWATA Linear Stopper| 843 E




CED
ao2ey LSF

Linear Stopper m

Hlimm

AH|Ql2|A

SuUS304

%
S Maker « Al2|= at 22
AYE | KO NSK | THK W H © S1 S2 E T ¢ D SZ(g) = rz/is
SRS15| 32 | 30 | 17.0 | 150 | 11 9 | 12 |55(M58) | 68 LSF-01S
15 [LWH15| LS15 |HSR15| 32 | 38 | 170 | 1560 | 16 | 9 | 12 | 55M52) | 64 LSF-02S
LH15 32 | 43 | 170 | 150 | 16 | 9 | 12 | 55(M58) | 98 LSF-03S
SRS20| 32 | 35 | 145 | 175 | 12 | 9 | 12 | 55(M58) | 78 LSF-04S
20 1520 32 | 43 | 145 | 175 | 17 | 9 | 12 | 55(M58) | 93 LSF-05S
LWH20 | LH20 | HSR20 | 32 | 45 | 145 | 175 | 19 | 9 | 12 | 55(M58) | 95 LSF-06S
SRS25| 32 | 40 | 130 | 190 | 16 | 7 | 16 | 6.6(M68) | 110 LSF-07S
25 (S25 32 | 48 | 130|190 | 19 | 7 | 16 | 66(M68) | 133 LSF-08S
LWH25 | LH25 | HSR25 | 32 | 50 | 130 | 190 | 23 | 7 | 16 | 66(M62) | 131 LSF-00S
30 | LWH30 |S0H0| HSR30 | 40 | 57 | 180 | 220 | 27 | 10 | 16 | 9(M8®) | 179 LSF-108
35 | LWH35 | LS¥LHE 50 | 65 | 200 | 300 | 30 | 10 | 16 | 9(M8®) | 259 LSF-11S
¥ 2 HES IWATA EXt FZAE0|H, Hl01747 BE55H= A oLt
aiLoj2esy LSH Linear Stopper m
ICTILIN P
SUS304 -
==
i _
o
feskiid
S1% o b
W
%
S Maker * Al2|= -
24 | sisEs
HYE | KO | NSk | ThK | el e t L ¢D 820 = #2525
5 SRS15| 25 | 25 | 133 | 45 | 20 | 12 | 34(M38) | 21 LSH-01S
LWH15 | [SI5H15| HSR15 | 25 | 32 | 155 | 45 | 20 | 14 | 45M48) | 27 LSH-02S
20 | LWH20 | LS00 || 32 | 32 | 205 | 50 | 20 | 16 | 55(M58) | 35 LSH-03S
o SRS25| 32 | 30 | 235 | 50 | 25 | 21 | 66(M62) | 40 LSH-04S
LWH25 | [S51H25| HSR25 | 32 | 36 | 235 | 7.0 | 25 | 21 | 66(M62) | 46 LSH-05S
30 | LWH30 |S0H0| HSR30 | 38 | 43 | 285 | 90 | 30 | 24 | 9(M8®) 79 LSH-06S
35 | LWH35 | LS%LHE 45 | 45 | 345 | 100 | 30 | 24 | 9(M8®) 96 LSH-07S

X 2 ME2 WATA SXt #450[0, Hl0|#7} 255k= 22 OofgLICt,

E 844 ‘ IWATA Linear Stopper Good Solution Leads To a Great Quality...



5PC

zuojiaey renzege LSCN Linear Stopper m
AHIQIE|A |
cHl:mm
SUS304
- w/2
- M
| ql’ 2-2243 = QCZ; .
t j :.nuj| v
P | _
i H ﬁ Q
*"--m - Jr@ | Ll H@ FI < 7_;% ! T/;IT T
d‘\m.!!':t ’ cnI - ! =
4 o, | ’/? . . ¢D I
Z w
/
S Maker * Al2|= -
o= IKO NSK | THK W | H J B A P T R M sé(g) = T=/Is
SRS15|50 |30 |18 |12 |235| 35|12 | 5 M6 X P0.75 (#1) 78 LSCN-01S
15 LWH15| LS15 |HSR15| 50 | 38 | 18 | 12 [315(/ 35|12 | 5 M6 X P0.75 (#H) 91 LSCN-02S
LH15 50143 |18 |12 |355| 35|12 | 5 M6 X PO.75(#) | 100 LSCN-03S
SRS20| 50 | 35|20 |12 |275| 35|12 | 5 M8 X P1.0(#8) 90 LSCN-04S
20 LS20 50143 |20 |12 |355| 35|12 | 5 M8 X P1.0 (i) 106 LSCN-05S
LWH20 | LH20 |HSR20 | 50 | 45 | 20 | 12 |375| 35|12 | 5 M8 X P1.0(#8) 110 LSCN-06S
SRS25| 50 |40 | 20 | 16 |325/ 35|16 | 5 M8 X P1.0 (i) 144 LSCN-07S
25 LS25 50|48 |20 | 16 |405/ 35|16 | 5 M8 X P1.0(#8) 164 LSCN-08S
LWH25 | LH25 |HSR25| 50 | 51 | 20 | 16 |435|/ 35|16 | 5 M8 X P1.0 (i) 172 LSCN-09S
30 LWHS30 [LS30,LH30| HSR30 | 65 | 57 | 24 | 16 [495| 45 | 16 | 5 M8 X P1.0(#8) 222 LSCN-10S
35 LWH35 |LS35 LH35 65|63 |24 |16 |555/45 |16 | 5 M8 X P1.0(#) 240 LSCN-11S

% 2 HE2 IWATA SXt #4Z0|H, Ho|77t ESsh= A2 ofgUch

CED
aoaey 2sm=ege LSDN

AH|QI2[A

SUS304

(#8) = 7k=LtAL

Linear Stopper m

Et2l:mm

_
2 . =
31|°E'§EH° IhKAgkerNgll(El_THK WIHI|E|F|BIAIP]T ¢D M g20) 24 FENSER
SRS15| 32 |30 |12 |12 | 18 [235| 16 | 25 |55 (M5&) |M6 X PO.75(ff) | 121 LSDN-01S
15 |LWH15| LS15 |HSR15| 32 |38 | 12|12 |18 |315| 16 | 25 |55 (M58) [M6 X PO.75(##H) | 145 | LSDN-02S
LH15 3243|1212 |18 |355| 16| 25 |55 (M5&) |[M6 X PO.75(ffl) | 160 | LSDN-03S
SRS20 | 32 |35 |12 |12 | 18 |275| 16 | 25 |55 (M5&)| M8 X P1.0(#f) | 136 | LSDN-04S
20 LS20 3243121218 |355[ 16| 25 |55 (M5&)| M8 x P1.0(#f) | 160 | LSDN-05S
LWH20 | LH20 |HSR20| 32 | 45 |12 | 12| 18 |37.5| 16 | 25 |55 (M5&) | M8 X P1.0(ff) | 166 | LSDN-06S
SRS25 |32 |40 |12 |12 | 23 32518 | 32 (M68)| M8 X P1.0(##) | 167 | LSDN-07S
25 LS25 32 |50 |12 | 12 | 23 |405| 18 | 32 |6.6 (M6&)| M8 X P1.0(#f) | 198 | LSDN-08S
LWH25 | LH25 |HSR25| 32 | 50 | 12 | 12 | 23 |435| 18 | 32 |6.6 (M6&)| M8 X P1.0(#f) | 198 | LSDN-09S
30 | LWH30 |LS30,LH30| HSR30| 38 | 57 | 16 | 16 | 28 |49.5| 20 | 38 M8 X P1.0(#H) | 346 | LSDN-10S
35 | LWH35 |LS35 LH35 45|63 |16 | 16| 31 |555]| 25| 45 M8 X P1.0(#H) | 490 | LSDN-11S
X = MS2 IWATA =Xt #450[0, H0|77} 255k= 22 ofgLth (8) = 7H=LtAL

www.spctech.co.kr

IWATA Linear Stopper




(NEW

glL|AE T

seneenge LSE

AH|Ql2|A
SUS304

Linear Stopper m

Hlimm

¢D

Ell‘HEEHo Ihlfgker NglKEIETHK WiR st s2i AP T ¢D M 220 24 FElsEs
SRS15| 50 | 30 | 16 | 11 |235| 32 | 12 | 55(M58) |[M6XPO.75(##) | 109 LSEN-01S
15 |LWH15| LS15 |HSR15| 50 | 38 | 16 | 16 |31.5| 32 | 12 | 55(M58) |M6XPO.75(#) | 136 LSEN-02S
LH15 50 | 43 | 16 | 16 |355| 32 | 12 | 55(M58) |[M6XPO.75(##H) | 158 LSEN-03S
SRS20 | 50 | 35 | 21 | 12 |27.5| 32 | 12 | 55(M58) | M8XP1.0(#f) | 124 LSEN-04S
20 LS20 50 | 43 |21 |17 |355|/32 | 12| 55(M58) | M8XP1.0(#) | 149 LSEN-05S
LWH20| LH20 |HSR20 | 50 | 45 | 21 | 19 |37.5| 32 | 12 | 55(M58) | M8XP1.0(#f) | 153 LSEN-06S
SRS25 | 50 | 40 | 24 | 16 |32.5| 36 | 16 | 6.6(M68) | M8BXP1.0(#H) | 173 LSEN-07S
25 LS25 50 | 50 | 24 | 23 |405| 36 | 16 | 6.6(M6&) | M8XP1.0(#f) | 210 LSEN-08S
LWH25 | LH25 |HSR25| 50 | 50 | 24 | 23 |435| 36 | 16 | 6.6(M6&) | M8xXP1.0(#f) | 210 LSEN-09S
30 | LWH30|LS30,LH30| HSR30 | 65 | 57 | 29 | 27 |495| 45 | 16 | 9(M88) | M8XP1.0(#) | 294 LSEN-10S
35 | LWH35 |LS35, LH35 75 65| 35|30 555/ 55|16 | 9(M88) | MBXP1.0(#f) | 401 LSEN-11S

% 2 HE2 WATA =Xt #A450[0, 00|77} 255k= 242 ofgLCt,

() = 7H=LtAL

E 846 ‘IWATA Linear Stopper

Good Solution Leads To a Great Quality...



